o' SONOR'




o Y ey

e V'S SV JUR

’ i T =2 v 1A Y

A0 Dy 28> - L
Designer Series
Piccolo:Smare Drum 08" 508", v i i e s 2
Stiate DEumm 14" S e e 3
SNAEDIUNE 18" B0 117 e tsrsst sttt timss s 4
ST DTUIE 1" 8™ i ovecommsesetonss s s e st s s 5
Bass Deum 18", With: Toimg Tugsi s B

Bass Drum 20", with Long Lugs ...
Bass Drum 22", with Long Lugs ....
Bass Drum 24", with Long Lugs ........
Bass Drum 18", with Single Lugs
Bass Drum 20", with Single Lugs
Bass Drum 22", with Single Lugs.....
Bass Drum 24", with Single Lugs..
Tom Tom 8", with Long Lugs .........
Tom Tom 10", with Long Lugs...
Tom Tom 12", with Lon& Lugs.......

Tom Tom 13", With Long LUGS v i

sl "

Tom Tom 14", with Long Lugs
Tom Tom 15", With Long LUgS ..o

Tom Tom 16", with Long Lugs......... Ve
Tom Tom 8", with Single Lugs ..........
Tom Tom 10", with Single Lugs .....

Tom Tom 12", with Single Lugs .....
Tom Tom 13", with Single Lugs .............. . 4...4.
Tom Tom 14", with Single Lugs { //-/

...............

Floor Tom 14", with Long Lugs .........
Floor Tom 16", with Long Lugs..........
Floor Tom 18", with Long Lugs ...........c......... et -
Floor Tom 14", with Single Lugs................. JC(ﬂ& ...... N R s i 31
F100r Tom 16", With Single LUgS..........co.oomrermeemosemosomiesssssssessssessssssssssssssnsse 32

Floor Tom 18", with Single Lugs...........cccccun. ,(.;7 ...... S N e v 33
7 J

5000 Hardware
CBS 52 Cymbal BOOM SEAN .......o.ooooeeeeveeceeeeseeesssseeceesesesessssseessesssessseesssesesssesssesesssene 34
CAW 56 Counterweight for Cymbal BOQM AIM ..........oococoereseeeesscmsescesssiossssesesnesssees 35
€S 50 CYMDALISIANT-.........corsrmmmrenepesessstsessommssassisssmnipssmesssrefobiomepessst e AW ;
CTS 59 Cymbal-Tom Stand ...,

DCS 58 Double Cymbal Stand
DTH 53 Double Tom Holder-........

HS 54 Hi-HAL ittt iiangons oS et

P 9395“Bass DrumiBedalt it i e e okt civivess

$S 57 Snare Drum SEANd .........ovvveeeereeeveeeeeceesreeees s N ¥ et )
TS 55 Double Tom:Stand ..ot
79392 Double Bass Dpuri Pedalis s . oomamensmim it gt el s 44

Designer Series

121136 04
121137 04
741 099 53
741 099 59
746 008 55
746 009 55
746 010 53
746 011 53
746 054 53
746 107 54

146,904 59
746 908 59

747 041 51
147 061 59

157102110
757 040 10
758 136 00

158 209 00
758 230 00
758 231 00
758 232 00
758 233 00
801 002 53
801 016 53
841 009 12
841 050 12
841098 12
844 012 12
845004 12
845 068 10
84507212
84707212
848 004 54

Piccolo Snare Drum 14" x 4"

Cast-iron rim 14" With 10 rOdS .....cooooeevereeeeeeeeecec e
Bottom cast-iron rim 14" with 10 rods
Lug for piccolo SNATE ATV wuusessvsssisssssssssssmmossisassssssssisssssssyssssssssinsss
Lug, complete for piccolo snare drum .......ccccccceeeercecercesssssssssssscciins
Snare strainer
Excenter roll ......
Snare butt ...........
SHATEISITCICHEE., ..ot i B s
Spring stirrup for SNAre ULt ...
Zinc clamb ..o,

Snare strainer, complete
Snare butt, complete..........
ATy 2 M s T T T BT st

7 4924 Snare strands with 24 SPirals .........cocovrecceeesersserssne,

Terision spring9.75:% 1 X 12MMicmmmmmmimisss
Tension SPTNE «csammmammi

Rubber washer 20 /5 x 1.5 mm
Tune-Safe SYSteMlu:.... conanumummmmmnmisi s o e
Rubber insulator for lug
Rubber insulator forsnare butt uoammnsmmmmn v
Rubberwasher forShate Butt o mmmsmnanmimnsasas
Rubber washer for lug
Slotted screw V4" X406 MM s mmemi g
LVET SCIOW ..ottt
LENLE] SCIEW ...ovoeoevevte s,
EIAE HEA SCTEW s cussavsssvsssssissonissasussstvasssarsssevssossssssisummmssimessssaesssnss siosossssanniay
Torx screw 5 x 16 mm....

SPEIILE TIINE, i cemnes st e s I S s OO S
Washer 6.4 X 12.5 X 1.6 MM w.ooooooooeeeeesccesesessseeeeeese s,
Polyamide washer 6.5 X 11 X 2 MM oo,
Special washer forsnare DULL ... ssmasssmmmnssssssosssissmssasissrins
Notehed pin'3 %25 MM s ity
Kiiirled serew M 6% 16 MM summmnnssmammmgs s

! SONOR

@ Printed in Germany  Printed on recveled paper

SonorMuseum.de

o




Designer Series

. Snare Drum 14" x 5"

80100253

R =
5 =
B 824057 =

QD

Drum Head - 2
J—m “ Lt - 5

130 o —t
$41098 12 - B/ML o
=

Q

N sN w

74528259
|

84110412 - MH
84501212 =
758136 00
158 202 00
-
// 7
@ — 74530303

(CC——mmtf

80100253 V

= l
- us2m25 %
47 06159 -
&) YUAAS
e 2 %
- 23 1C A N0 O A
. e 760 080 00 R o% — 4704151 /[ /O (/ U O/
501212 i BIGL2-BML o J
=2l e wnz-m ol ——
746 01153
84801354 L ) !
_ 53:33320 i & wmmp /A=
S J L" v L€

758 23100
746 054 53

844009 10

746 04753 746 010 53 ) ] A
758 144 00 g——— 757 064 13 i 2 /““,5(,) LA \7 & /
#s 01610 74610754 :
760 060 00 %& 841009 12 i
746 046 53 g 746107 54 Q‘?
841009 12 s

0o¥

¢' SONOR




Designer: Series

72113604
721137 04

145 282 54

745 282 59
745 303 03
746 010 53
746 011 53

746 046 53
746 047 53
746 049 53
746 051 53
746 054 53
746 060 00
746 107 54

746 908 59
746 953 59
747 041 51

747 061 59

157 02110

157 064 13

758 136 00
758 144 00
758 202 00.
758 209 00
758 231 00
158 232 00
760 080 00
801 002 53
805 012 53
841009 12
841 058 13

844 009 10
84501212

845 016 10
845068 12
84507212

84707212

848 004 54

848 013 54
i

841098 12

841104 12

841106 12

84110712

Snare Drum 14" x 5"

Bottom cast-iron rim 14" with 10 rods /{M’{*”""%"//\/.
TubUlar IUG oo J
Tubular lug, complete ...... .
Threaded bushing...owsmmmammssmmmmmeamsmaaamemm
Snare butt ........ T .
SNATE SEIELCHET c..vvvooeeeeeee s

Snare strainer ..... SN N AN N S
Capiwith Ringebolt s
Lever for snare Strainer ......o....ccoooevvviienennens

S1ide fOT SOATE ST AINET siouresssssenmasseneanss s SO e amnasesasnassisbiSii s shmnstssen
Spring stirrup for SNATe DUl ... sesseessinns
RearpilotABVE: Dlaek. o M
Zinerelamb i s
Stareibiitt; completes s
Snare Strainer, COMPIELE ..........ccuuemurmmrmisreneeeeeeseesessssesssssssssssessesssssesees
Snare cord, 2 M oo, . .
Z 4924 Snare strands with 24 spirals ...,
Tension spring 9.75 x 1 x 12 mm
Tension spring 10 x 1.2 x 30 mm
Rilbberwasher 20045 X1, 5.
Rubber insulator for snare strainer IO S
Rubber insulator for g s
TutiezSafe STSTEM .o rs sas
Rubber insulator for snare butt
Rubber washer for Snare DUt .........coooovocooovrvvcccnenevciseesesessscesesei,
Rubberovaliting 8 x<19i% L6 s ssssssmssssssssvsscusussssmsmsssiessss
Slotted screw /4" x 46 mm
11 ()
Lentil screw M 4 X 10 MM oovvvoooeeeeeceeeees e seeneeseseee s
Flat head screw M 5 x 18 mm....
Spring washer
Washer5.3 158 LM ewmmmmnemmannnessmuems
Safety washer
Polyamide washer 6.5 X 11 X 2 MM w..oooovvvvoocereeeceeeeesssessnisieneneneees
Special-washer forsnareibUuth .
Notched pin 3 x 25 mm
Knurled SCiew M 6% 16 MM
Knurled screw M 5 X 64 MM .o

Cast-iron rim 14" with 10 rods @ St k/g

Variable Parts

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells .o,
Torx screw for lug, 5 x 20 mm
for Maple HEavy Shells s

Torx screw for snare butt, 5 x 20 mm
for Birch and Maple Light Shells ...
Torx screw for snare butt, 5 x 25 mm
foit Miaple Heamy shellsuwsuguamaaamsmssmpisoismg

‘? SGNOR @ Printed in Germany  Printed on recycled paper

SonorMuseum.de

&



Designer Series |
k Piccolo Snare Drum 14" x 4"

81109812
8401212
75823300

758230 00

8— 75820900

74109953 4

11 09|9 59
=)
N =
>
S
S\\'
e

80100253

845068 10

MEO085)  —— g/ "l b (Zd’ C/%

Drum Head

845068 10

SonorMuseum.de

80100253

o

1470415
747 06151

098 —&
801016 55
85 07212
75823200
§100812 746 009 55 75823100

746 008 55 746 054 53

z o 0212 — o
S 8B — L T610755 746 01053 =
=3 H =

W— 7__{?@ 800955 2

84500412 — J
757040100 ——— R

»
| ~ ¢! SONOR




Designer Series

Snare Drum 14" x 6'/2"

721136 04 Cast-iron rim 14" with 10 rods
121137 04 Bottom cast-iron rim 14" with 10 rods

145 282 54 Tubular lug ........ . .
145 282 59 Tubular lug, complete ...... W WO e SN SO
745 303 03 Threaded bushing ..cemmmmssmmmsummnning
746 010 53 SIATE DULL coooooooee s ssss s ssss s snsses
746 011 53 SNATE SEIRLCHET coccivrvvveeeeeec e sssse s
746 046 53 SIATE SURAINOTSuuvasunsassvsstosscsinsissesossesssveseossssssts s csesss s eSO
746 047 53 Gapiwith hinge bolbauumummmmimsmm e
746 049 53 Leverfor Snate SIralier wmsmnimmm e s

746 051 53 Slide for snare strainer
746 054 53 Spring stirrup for snare butt

746 060 00 Rear pilot, PVC, black........ccoooc.......

746 107 54 Zitierelamb s smmmmasnsnessns

746 908 59 Snare butt, complete........... i R,

746 953 59 Snare strainer, complete .......... e enean
. 747 041 51 SNATE COT, 2 MY oo

147 061 59 Z 4924 Snare strands with 24 spirals ...

15702110 Tension spring 9.75 x 1 x 12 mm RS

157 064 13 Tension spring 10 x 1.2 x 30 mm

758 136 00 Rubber washer 20 /5 X 1.5 MM ..o

7158 144 00 Rubber insulator for SNare Strainer ............cooomeecereeiosmnererveriisnenns

758 202 00 Rubber insulator for lug s

758 209 00 TuiiE-Safe SYSIBMLcocmmimn iR G

758 231 00 Rubber insulator for snare butt ..o,

758 232 00 Rubber washer for snare DUt ............cccooooevrrrvvveoceeecccssseeeecreseees

760 080 00 Rubber oval ring 8 x 19 x 16 mm ............

801 002 53 Slotted screw: /" % 46 mim-fo1 tOp HiMikusa s,

801 087 53 Slotted screw '/4" x 80 mm for bottom rim ..o

805 012 53 Dl K€Y et ssmsiteiiessesssazsseseass SO B e
841 009 12 Lentil screw M 4 x 10 mm
841058 13 Flat head screw M 5 x 18 mm

844009 12 O PP EL ATV o s SRS
845012 12 Washer 53 X0S XL vvvcormsmemmesrissiis s
845 016 10 SAFRLY WASRET w.oovovovcvcvvvreveeeee s
. 845 068 10 Polyamide washer 6.5 X 11 X 2 MM ..o,
84507212 Special washer for'snare bUt ... s,
84707212 Notched pin.S % 25 Ml csummmmpummess s
848 004 54 Kntirled sEreW M 6% 16 M s e iisssstonn
848 013 54 Knrled SCreW. M 5% 64 M. omsiisis fonme b s ativsmssintans

Variable Parts

841098 12 Torx screw for lug, 5 x 16 mm

for Birch and Maple Light SRells wevvievccnneiscsisresssensnissn
841104 12 Torx screw for lug, 5 x 20 mm

for Maple Heavy ShellS ... st
841106 12 Torx screw for snare butt, 5 x 20 mm

for Bifchand MapleLight shells. ...orsvmoomcmmmsomssmmensome
84110712 Torx screw for snare butt, 5 x 25 mm

' for Maple Heavy shells....ommummmnsmmmammembm i

‘? SONOR @ Printed in Germany  Printed on recycled paper 4

¢ SonorMuseum.de



@

Designer Series

Snare Drum 14" x 6Y/2"

Drum Head

Drum Head

12113104

841098 12 - B/ML
84110412 - MH

84501212 e
158136 00
758 20200

8— 758209 00

— W53030
1528254
1

160 080 00

746 051 53
746 049 53

4528259
|
®
gzs S
=23
-t Ol

84400910
746 04753
75106413

746 107 54
& 84100912

758144 00
845016 10

760 060 00

746 046 53

C C——mx

80100253

845068 10

— 74695359
EN
=2
S 801087 53
747 06159
w
RGeS — 714704151

841106 12 - B/ML

$A110712 - MH
746 01153
84507212 &2
75823200 wisny
758 23100 75702112
746 054 53 =
746 01053 ) el
746107 54 ﬁ ?
841009 12 —

ke 0S4

o' SONOR

SonorMuseum.de

o



Designer Series

721136 04
121137 04

745 282 54
745 282 59
745 303 03
746 010 53
746 011 53

746 046 53
746 047 53
746 049 53
746 051 53
746 054 53
746 060 00
746 107 54

746 908 59
746 953 59
747 041 51

747 061 59
157 02110

757 064 13

758 136 00
758 144 00
758 202 00
758 209 00
758 231 00
758 232 00
760 080 00
801 040 53
801 059 53
805 012 53
841009 12
841 058 13

844 009 12
845012 12

845 016 10
845068 10
845072 12

84707212

848 004 54
848 013 54

841098 12

841104 12

841106 12

841107 12

Snare Drum 14" x 8"

Cast-iron rim 14" with 10 rods
Bottom cast-iron rim 14" with 10 rods
Tubularlug s

Tubilar lug; complete s
THEEAAE. DUSIITIE . vvss ssssrssssessossspesnsmsssssgs iiiiiiasiinssnesaenmmssiesbivirsistiasnssiinss
SIATE DULL oottt ss s ssssssee s
Snare:streteher . mmmmnsmn Wl NV TV O
SHATE SITANET v T
Cap with hinge bolt
Lever fOr SNATE SLIAINET ..vveu..veeeeerereeeee s sesseeesssssssessssassssssssessssssns
Slide fOr SNATe SLIAINET ..........cevveeerererieeiie e
Spring stirrup for snare butt
Rearpilot; PVG, blacki .
Zinc clamb..............
SNaAre butt, COMPIELE .......v...ooooovereesessssserereeeeresrsesssessssssssesss s sssssssesens
Snare Strainer, COMPIELE .......cooorrrvvvvoeeeiereerreeieeeeeeeereesssssesesssssssssnsssseeees
Snare cord; 2/ M ..
Z 4924 Snare strands with 24 spirals........ccccccmmireimonnsssssssisninnns
Tension spring 9.75 x 1 x 12 mm
Tension spring 10 x 1.2 x 30 mm
Rubber washer 20 /5 X 1.5 MM ..o
Rubber insulator for snare Strainer .........co.ceoeeeereeveviesnennsescorneen.
Rubber insulator for 1Ug ..o,

Tune-Safe SYSLeM .....ccveveeeeeeevermssssssssreeneen

Rubber insulator for snare butt
Rubber washer for snare bUtt .................ccooomrrrvevcirsseeeneciirsnnnncs,
Rubberoval ring 8% 19°% 16 MM s
Slotted screw '/4" x 100 mm for bottom rim
Slotted screw /5" X 60 MM fOr tOP M ..oovvvrevevrerssmnrersesseneenscessnne
DU K@Y oot ssss s
Lentil screw M 4 x 10 mm
Elathead:serew M. 5% 18 MM
T T 1 (]
Washer 5,3 x 15 x 1.6 mm
Safety Washer .o
Polyamide washer 6.5 x 11 x 2 mm ..
Special washer forsnare Buthusemmemes s
Notched pin. 3% 2SI s R R A
Knurled screw M 6 x 16 mm
Knurled screw M 5 x 64 mm

Variable Parts

Torx screw for lug, 5 x 16 mm
forBirch and Maple Light Shells ..o
Torx screw for lug, 5 x 20 mm
for Maple Heavy SHelLS ....cummmmmmsssissssissssmmummmmssspsssssssssssss

Torx screw for snare butt, 5 x 20 mm
forBiteh and Maple Lightshells.mmmommammmmammsmms
Torx screw for snare butt, 5 x 25 mm
for Maple Heavy shells ..o

‘? SONGR @ Printed in Germany  Printed on recycled paper

SonorMuseum.de

)




®

Designer Series

Snare Drum 14" x 8"

74528259

746 953 59

Drum Head

Drum Head

12113704

84109812 - B/ML
84110412 - MH
84501212

158136 00

75820200
©
S mw

— 14530303

74528254
-
e PR 760 080 00
845 012 12 746 05153
746 049 53

758136 00

84501610

/ 610754
760 060 00 %_ 84100912
746 046 53 5

841106 12 - B/ML
84110712 - MH

84501212
158 232 00

758 23100
746 054 53

746 010 53

80105953

84506810

14706159

746 01153

/ 40 dwos

— 74695359

146107 54 f
84100912 e

— 74704151

746 908 59

14 €206,

+' SONOR

SonorMuseum.de

of



721086 . .
741 090 54
741 090 59
741 091 54
741 092 54
741 093 54
742 016 54
745 210 51
745 271 53

145212 00
745 215 00
745 217 03
745 28110

745 289 54
745298 73
755 095 54
157 046 10
157 069 12
157 084 12
158 063 00
158 095 00
758 136 00
758 193 00
758 194 00
758195 00
158 196 00
758 197 00
758 201 00
758 202 00
758 205 00
758 207 00
158 210 00
759 031 00
801 066 54
802 001 53
805 025 00
840 03110
842126 12
84503310
845 067 12
84712112

84712212

Bass Drum 18", with Long Lugs

Rimy 18" scsammmsias s s
Mount for bass drum SPUT ...
Bass drum spur, complete ........c.ccccccccee .
Graduated collar for bass drum SPUT.......cccccccccvmvrrervvecrrrsvsrsnsssenesnsnnnnn
Leg:for'bass drimSpur s
Quick-Stop Lever
Claw hook for bass drum ... L
Metal spikeissmmasmmmmmsmumnsmssss s
Set collar 11.5 /720 x 10 mm
Clampingrolli6:X 2% MM ur s o
SQUATE-NEAd SCIEW /4" .....cocevueererecrereriensssssssssssssssssssssssssssssssssssssssnassssssss -
Threaded bushing for bass drum
Safety roller ...,

Stopper for tom tom holder on bass drum plate.........cccccccccone.
Thrust pad for stopper on bass drum plate
CatCh DUSHING oo eseesissseesssssssess s
Tension spring 1.2 x 10.5 x 45 mm
Tension spring 10.5 x 1.1 x 25 mm
Tension spring 12 X 1 X 17 MM o,
Felt muffler 70 x 2 mm .........
GUIdITE WASREPL0:3 M., i
Rubber washer 20 / 5 x 1.5 mm.............
Rubber insulator for bass drum spur
Polystyrene Washer .........occmnicnccns

Knurled ring @ 52 M oo
Rubber foot............

Rubber bellow
Rubber‘insulator foriclaw hook ..
Rubber insulator, large, for IUg .o,
Rubber insulator for bass drum plate ...,
Knurled ring @ 28 MM ....ccoererrienecesereineneseesssssesesssessssesssennns
Tune-Safe System for bass drum ...,
AdhEsive for TIms s s
KUrled NUEM 8 X 54 THI...vvvpecisiisssnsssmsssensssiossissistssissssistisiiiinssesnesenssssiiiss
Slotted screw for stopper on bass drum plate ...
Set:of keys forbassidrum s
No6tched pifi' 5 X20 MM e
Flat round screw M 8 x 50 mm
Safety washer .
Washer 6.4 mm
Notched pin 3 x 12 mm
Notched pin 3 x 10 mm

Variable Parts o0 C ©

‘? SONO“ @ Printed in Germany  Printed on recycled paper 6

SonorMuseum.de

&



Designer Series

Bass Drum 18", mit Doppelspannstiitzen

Bass Drum 18", with Long Lugs 742016 54

(1)
741106 54 - 14" depth of shell
741108 54 - 16" depth of shell

(2]
741106 59 - 14" depth of shell
741108 59 - 16" depth of shell

3]
745 218 73 - 14" depth of shell
74527973 - 16" depth of shell

4]
801076 59- 14" depth of shell
80107759 - 16" depth of shell

5]
80108159 - 14" depth of shell

~— 75820100

Drum Head

|
/EBLL 74528110
745 275 00

@\ 7 15820200
T
|

TS 801 08259 - 16" depth of shell
841098 12 - B/ML QD
84110412 - MH
_/
7~
® -
—— 75806300 E
i 7 /
\x s ) ’ﬁ/// VL
— ~ A e
— e T S
. (2 7 (_;?.7__)“,: /:’/;éi O
‘ 841098 12 B/ML 4 o
S— G ¢ = pus N
. 71777 — 758136 00 - .
) 1] N - 75819300 = 157069 12
- 75819400 o

758195 00

T
us7m
45‘1\ P
805 025 00 #1212 /:1 |
1K !
was || 801066 54
. 1
~ ——— 4109254
||
’ — ORI !
' : 10 |\
! ; 758 095 00 :cj 74109354
0200088 J| & ¢ )~ s >
N - 15 | 758 197 00
52895 - N 758 205 00 e 1 N —
4529873 : N #0810 A |
o © 758 136 00
& 841098 12- B/ML 758196 00
usame 84110412 - M

+" SONOR




N\

Variable Parts
741106 54 Lug, for 18" x 14" bass i [y1111 R
741106 59 Lug, complete, for 18" x 14" bass drum ...
741 108 54 Lug, for 18" x 16" bass drum .........ccccceevrseruenns :
741108 59 Lug, complete, for 18" x 16" bass drum ...
MOQI8T3  Bags drum plate for 18" x 14" Dass drum e
45219713 Bass drum plate for 18" x 16" Dass Arum v

n .

801 076 59 Slotted screw /4" x 125 mm, for 18" x 14" bass drum..... ‘( C.’.T.A./..ﬁ./{7/3 r .
801 077 59 Slotted screw /4" x 135 mm, for 18" x 16" bass drum................ M
801 081 59 Knurled screw /" x 125 mm, for 18" x 14" bass drum....,:..f?ﬁ.‘f.."zob%"’
801 082 59 Knurled screw /4" x 135 mm, for 18" x 16" bass drum.......... ...
841098 12 Torx screw for lug, 5 x 16 mm

for Birch and Maple Light Shells oo '
841104 12 Torx screw for lug, 5 x 20 mm

for Maple Heavy SRELLS coverveveseervessenssssssesss s

Designer Series

Bass Drum 20", with Long Lugs

721087 .. RATH 0™ covusiiasmusvssiissvussesmsassssssassonsssssysss oo vessesss e sssssvossssssast Govassieehusesdvaessess

741 090 54 Moiint for bassidrim SPUR ciamsmsc s

741090 59 Bass drim spur; COMPETe...iimmenminmmmmmmammsmsmbissim

741091 54 Graduated collar for bass:drum: SPUL..cun uummmmmsmsssmmrsesammsmmimmss

141092 54 Leg for Dass drUm SPU .....ccvvevresmrscsersessssssssssssessssesssssssnsssessseses

741 093 54 Quick-Stop Lever

742 016 54 Claw hook for bass drum

745 270 51 MELAl SPIKE ..vvvvvvrrerrrrcrrenrrne s

745 271 53 Set collar 11.5 /20 x 10 mm

745 212 00 Clamplngrolli6 % 22MM s

745 215 00 Studre-hedd Serew Vi sopsmmmarmre s e

745 277 03 Threaded bushing for bass drum ..

745 28110 SALRLY TOLIET w.ovovveriecce e

745 289 54 Stopper for tom tom holder on bass drum plate ... G)
745298 73 Thrust pad for stopper on bass drum plate .......ccceccsrrsirieen

755 095 54 CaLCh DUSRING coovvovvvo s sseee 'U
757 046 10 Tension spring 1.2 x 10.5 x 45 mm ...... o
757 069 12 Tension spring 10:5 x:1.1 X 25 MM E
757 084 12 Tesion spring 12:%:1 % 17 Mgy

758 063 00 Felt muffler 70 x 2 mm

758 095 00 GG WASHET 16,3 I ovssstseesmmameniissiosschisississmssssss i R s e mnomns 5
758 136 00 Rubber washer 20 /5 X 1.5 MM ..ocvvvcvrvmreerereeeereninnissmeeesesessssssesseesessesssnenns G)
758 193 00 Rubber insulator for bass drum SPUr .........ccooooeeooocovvvveeececccccrissennnnns w
758 194 00 POyt e e WASHET st o s s

758 195 00 Knurled ring @ 52 MM oo ssseesessensseseeeeseens 5
758 196 00 RUDDEE FOOL v e

758 197 00 RUBDDEE DEIOW oo ssssssensescenenns E
758 201 00 Rubber insert for claw ROOK ..o.cccccevvereecrreersceressssscceressessiennnes

758 202 00 Rubiber insulator. barge, for T s mmemsmmsanms s—d
758 205 00 Riibbernsulator for bass drom plate .spsmsasmmammmsis O
758 207 00

758 210 00 -
759 031 00

801 066 54 Knurled nut M8 X 54 mm .o O
802 001 53 Slotted screw for stopper on bass drum plate w
805 025 00 Set of keys for bass drum ...

840 03110 OB DI 5750 070NN oot 58 e

842126 12 Flat round screw M 8 X 50 MM cooc....ooooovoecerreeessiceneesssscseees e o—
84503310  Safety washer B
845 067 12 WAShEr 0.4 MM wcoooooioooeeeeeeceeeeeesssse s

84712112 Notched pint 3:% 12imMMsmmasmmmmmnnmesmiimsammming

84712212 Notchied pist 3.3 L0 MM s

(\;; L/

Variable Parts 00 0 ©

o SONOR'

Germany  Printed on recycled paper 7



Designer Series

Bass Drum 20", mit Doppelspannstiitzen
Bass Drum 20", with Long Lugs 20165 —
(1)

82000 —— Q 741106 54 - 14" depth of shell
741108 54 - 16" depth of shell
758 20100 741109 54 - 18" depth of shell

o . 2)
i 741106 59 - 14" depth of shell

141108 59 - 16" depth of shell

74110959 - 18" depth of shell

745 278 73 - 14" depth of shell

;(_)(;’ AN S

84109812 - B/ML »
34110412 -MH -

801 08159 - 14" depth of shell
801 08259- 16" depth of shell
801 083 59- 18" depth of shell

— 74109059

el 1737, 37
841098 12 - B/ML S
o ‘ 84110412 - My — ;:iggm
PRI | ] 158 136 00 " R
759 031 00 | 758193 00
——— 75819400
15819500
I —— )V
$4003110 — ~
521200 —
5> ‘ o’
805 02500 #ne -~ | * 4
| f
wms — | < | ~ e
| @ ‘
) g | N 109254
| sz
15704610 - | : -
58 095 00 ] mems
802 001 53 745 281 500 19
75 755 095 54 — 75819700
o - o |
745 289 54 758 205 00 L USs W
45298 73 _ 84503310 w V
-
o (2D 813600 |
S 109812-B/ML ~ 75819600
52108 84110412 - MH

74528110 =
1521500 - _T45 21973 - 16" depth of shel SS0
745 28073 - 18" depth of shell Yoo
758 20200
801076 59 - 14" depth of shell
758 136 00 80107759 - 16" depth of shell
801078 59- 18" depth of shell

o' SONOR

SonorMuseum.de

o



141106 54
741106 59

141108 54
741108 59

741109 54
741109 59

- 745 218 73
74521973
745 280 73

801 076 59
801 077 59
801 078 59
801 081 59
801 082 59
801 083 59
841098 12

84110412

Variable Parts

Lug, for 20" x 14" bass i1} || e
Lug, complete, for 20" x 14" bass drum

Lug, for 20" x 16" bass drum
Lug, complete, for 20" X 16" bass drum

Lug, for 20" x 18" bass drum ..
Lug, complete, f " x 18" bass drum

Bass drum plate for 20" x 14" bass drum...‘..‘.(.:\’,..‘:.....].. & ,%Z,C/ £
Bass drum plate for 20" x 16" bass drum.......\., d‘ ¥ {” .........
Bass drum plate for 20" x 18" bass drum.....cmcicsrsirrsenn
Slotted screw /4" x 125 mm, for 20" x 14" bass drum.................. \\\gk/
Slotted screw /4" x 135 mm, for 20" x 16" bass drum........[..Cx.. \\f‘ //
Slotted screw /4" x 145 mm, for 20" x 18" bass drum........... \V\ -

&
Knurled screw /4" x 125 mm, for 20" x 14" bass drum....................
Knurled screw /4" x 135 mm, for 20" x 16" bass drum........... wlovees )
Knurled screw /4" x 145 mm, for 20" x 18" bass drux11.......f%(-?}f(yqy

Torx screw for lug, 5 X 16 mm /

for Birch and Maple Light Shells ...
Torx screw for lug, 5 x 20 mm
2 PT[R 1070 £ LS —————

a)re

Designer Series

Bass Drum 22", with Long Lug
D

721088..  Rim 22" e /»/“L ..........................................................

741 090 54 Mount for bass drum SPUF ..ot

741 090 59 Bass drum SPUT, COMPIELE ..................couummmcseresssssssesssssssssssssssassssssisssssssans

741 091 54 Graduated collar for bass drum spur

741 092 54 Leg for bass drum SPUT ........cccvvvecccesscssimsisssssesecsssssiiisesensssssessesesss

741093 54 (O TETE G (4] 0 3 e P e o eSO

742 016 54 Claw hook for bass drum. ...

745 270 51 Metal Spike.......covveeerevvrrrrrirrereerinreeen

745 271 53 Set collar 11.5 /20 x 10 mm

145 212 00 Clampirigiroll 6:% 22 MMammnnm s,

145 215 00 Square-head screw /6" sumnsmmnnmmaimansmssmiie

745 277 03 Threaded bushing for bass drum...

745 28110 SALELY TOLLET .....ooorrevverececnisersensenscsssssssns s ssssssessses

145 289 54 Stopper for tom tom holder on bass drum plate.......c..ccccccccrviicce.

745298 73 Thrust pad for stopper on bass drum plate ...

755 095 54 Cateh BUSHIAE. ...

157 046 10 Tension spring 1.2 X 10.5 X 45 MM cocoooviiiiiciiiiicenceessssececcscccccccsnes

157 069 12 Tension spring 10.5 X 1.1 X 25 MM ccoovevecrrmreeremmsmmisneenreeecssssenesninens

157 084 12 Tension Spring 12 X 1 X 17 MM oo

758 063 00 Feltntfler 705 2 i

758 095 00 Guidin® Washer: 16:3 M. e

758 136 00 Rubber washer 20 / 5 X 1.5 MM coooooeiceriiirrrrrneeeeesssssinsessssnssssssnneneeeeees

758193 00 Rubber insulator for bass drum spur ....

758 194 00 PO Y SEYICIE WASIEE ssuvsisssassusscssmssmusssiavassssassssnmaiivssssssssisessssscisasesesssasess

758 195 00 Kniirled ting @ 52 M ommmmman s

758 196 00 RUDDEE FOOL ..ot

758 197 00 RUDDEE DCIIOW w.oovvvvveeeessieeiveveeeeresenssneenssensssssssesssssssssssssssssssssssssssssssssnsssnns

758 201 00 Rubber insert for claw ROOK ...

158 202 00 Riibberiinsulator; lagge; forlug mmmmumnsmmmmis:

758 205 00 Rubber insulator for bass drum plate .........coooevvnmeccriiinncrinnnnnnnns

758 207 00 Knurled ring @ 28 MM ... seeesessessssssnsnsseseesseseens

758 210 00 Tune-Safe System for bass_
75903100 Adhesive for rims .../C.%2 7

801 066 54 Knurled nut M 8 x 54 mm

802 001 53 Slotted screw for stopper on bass drum plate ...

805 025 00 Set of keys for bass drum

840 03110 Notched pin 5 X 20 MM .

842126 12 Flat round.screw M 8% 50 Ml i

845033 10 Safety WASHET v

845 067 12 WASHER 0. M e

84712112 Notched pin 3 x 12 mm

84712212 Notched pin 3 x 10 mm

2 ) |
Kot hew —2 6 iy

Variable Parts oo o ©

¢' SONOR

@ Printed i Germany  Printed on recycled paper 8

SonorMuseum.de

of



o

Designer Series

Bass Drum 22", mit Doppelspannstiitzen

Bass Drum 22", with Long Lugs

201654 —

o %
’@L: 745 28110

758136 00

#I09BL2-BML
$I0412-MH
.5

- 74109059

e —

Aol

(ﬁép

721088...

— P -
~—— Drum Head = 7 O ette
= |
" E—— 737}V
1098 12- B/ML 70305
| S-S 09
850672 — | 158136 00 — 1\ y ‘

PR e e 758193 00 s / P~ 106912

WMB —
84003110 -
521200 —
(_l}\
805025 00 wr | |

|
us 75l ‘
|

%J

157046 10
758 095 00

80200153 : 74528110
¥ msmys <5 a8 Tl
C w527 -~ 8503310
o o 758136 00
S

758194 00
~ 15819500

801066 54

T 14109254

— 15819700

758196 00

741106 54 - 14" depth of shell
741108 54 - 16" depth of shell
741109 54 - 18" depth of shell

(2]
741106 59 - 14" depth of shel
74110859 - 16" depth of shell

~— 741109 59 - 18" depth of shell

Ly

945 71813 - 14" depth of shell
74527973 - 16" depth of shell
745280 73 - 18" depth of shel

og(n 076 59 - 14" depth of shell
401 07759 - 16" depth of shell
801 078 59 - 18" depth of shell

9301 08159 - 14" depth of shell
801 082 59- 16" depth of shell
501 083 59- 18" depth of shell

™
()
o
&

>
S

¢’ SONOR

useum.de



Designer Series

Variable Parts Bass Drum 24", with Long Lugs
A
78110654 Lug, for 22" x 14" Dass drUM vt 721089 .. 3T L S
741106 597 Lug, complete, for 22" x 14" bass drum .ol 741 090 54 Mount for bass drum SPU .......ccoeeereceoeeeeseceeseeesssesssseessseessees
) 741090 59 Bass drum spur, complete
741108 54 Lug, for 22" X 16" Dass druM v Ref gt 741 091 54 Graduated collar for bass drum SPUT ......c..eoeeeersersceeoesersessoosoe
741108 59 Lug, complete, for 22" X 16" bass drum ........... PRFels 741 092 54 Leg for bass drum spur-.............. .
741 093 54 Quick-Stop Lever
741109 54 Lug, for 22" x 18" bass drum «n ..................... 742 016 54 @l Hook for Bass ORI o i R
T4110959 © Ly complete, for 22" X 18" bass ArUm b 745 210 51 MERALSHIRE. . mesisisitiiicisismsmimsmmspspissmmssmsmsmrtssssps s
= 745 21153 Set collar 11.5 /20 x 10 mm
145 278 13 Bass drum plﬂle for 22" X 14" bass drum... . 745 272 00 Clamping roll 6 X 22 TTHIY oottt et e et et s e st erenenens
74521973 Bass drum plate for 22" X L E R T DR ——— 145 275 00 Squate-head:sereWw il s
745280 73 Bass drum plate for 22" X 18" bass dEliilmsmmmmmmams 745 217 03 Threaded bushing for bass drum
74528110 SAMCTTTOBE....vonesermosse i Emismmmonass s s aesenessenasssosses ST R s
801 076 59 Slotted screw /4" x 125 mm, for 22" x 14" bass drum................... 745 289 54 Stopper for tom tom holder on bass drum plate ...
80107759 Slotted screw /4" X 135 mm, for 22" X 16" bass drum ... 745 298 73 Thrust pad for stopper on bass drum plate
801 078 59 Slotted screw /4" x 145 mm, for 22" x 18" bass drum ... 755 095 54 L W11 111 n—

. . 157 046 10 Tension spring 1.2 x 10.5 x 45 mm
157 069 12 Tension spring 10.5 x 1.1 x 25 mm

157 084 12 Tension spring 12 x 1 x 17 mm

801 08159 Knurled screw V4" x 125 mm, for 22" x 14" bass drum
801 082 59 Knurled screw /4" x 135 mm, for 22" x 16" bass drum

80108359  Kpurled screw /4" x 145 mm, for 22" x 18" bass drum 758 063 00 Felt MUffler 70 X 2 MM ...ooooooooeeeeseeeesceesseressesssserens s
758 095 00 Guiding washer 16.3 mm
841098 12 Torx screw for lug, 5 X 16 mm 758 136 00 1] O P A G U 1111 [ ——————
for Birch and Maple Light SHeLS s 758 193 00 Rubber insulator for bass drum Spur ...........cccccvivivvvveceeeennrinns
841104 12 Torx screw for lug, 5 X 20 mm 158 194 00 Polystyrene washer

for Maple Heavy T T 758 195 00 Knurled ring ¢ 52 mm
758 196 00 RUD B 00, e e T S s
758 197 00 Rubber bellow
758 201 00 Rubber insert for claw hook

758 202 00 Rubber insulator, large, for 1ug s,
758 205 00 Rubber insulator for bass drum plate ...
158 207 00 Kriurled fifigi@ 28 MM s
758 210 00 Tune-Safe System for bass drum........
759 031 00 Adhesive for rims ......eeciciiirennn

801 066 54 Knurled nutiM:8 x 54mMM v
802 001 53 Slotted screw for stopper on bass drum plate ...,

.- . 80502500  Set of keys for bass drum ...

840 03110 Notched pin 5 X 20 MM coocoocoioisisieissssssesmsissssssssessssesssnesenas
842126 12 Flat round screw M 8 X 50 MM ..o
84503310 Safety washer anmammannmmmmmess

845 067 12 Washer 6.4 mm
84712112 Notched pin 3 x 12 mm

84712212 Notched pin 3 X 10 MM e

Variable Parts oo o

"

‘? SONOR @ Prnted 1 Germany - Printed on recycled paper 9

SonorMuseum.de

of



Designer Series

Bass Drum 24", mit Doppelspannstiitzen
Bass Drum 24", with Long Lugs

758 201 00

Drum Head

74528110
745215 00

758202 00

758136 00

841098 12 - B/ML
84110412 - MH

—— 758 06300
- 74109059
L Drum Head
" - 8212612
| ‘ 1098 12 - B/ML 741090 54
[, J ‘ { 110412 -MH - 76109154
SEE 758193 00 L
758194 00

758195 00

840 03110 V-g W
745 27200 ,.
ey L 4
, L
805 025 00 wrme -~ 1 ‘
i 801 066 54
uszost || |
[ ’ ‘ 74109254
|
® >) 15108610 Y
758 095 00 {1 s
802 00153 74528110 ‘
745 275 00 755 095 54 : 758197 00
745 289 54 758 205 00 L Uss s
745298 73 T N\ 84503310 > | 7
© © 758 136 00
& 841098 12 B/ML 758196 00
Ll 84110412 - MH

1)
741106 54 - 14" depth of shell
741108 54 - 16" depth of shell
741109 54 - 18" depth of shell

(2]
741106 59 - 14" depth of shell
741108 59 - 16" depth of shell
741109 59 - 18" depth of shell

(3]
745 278 73 - 14" depth of shell
14521973 - 16" depth of shell
745280 73 - 18" depth of shell

(4]
801076 59 - 14" depth of shell
801 077 59 - 16" depth of shell
801 078 59 - 18" depth of shell

5]
80108159 - 14" depth of shell
801082 59- 16" depth of shell
801 083 59- 18" depth of shell

¢' SONOR

SonorMuseum.de

o




141106 54
141106 59

741108 54
741108 59

741109 54
741109 59

145218 73
145219 73
145 280 73

801 076 59
801077 59
801078 59
801081 59
801 082 59
801083 59
841 098 12

841104 12

Variable Parts

Lug, for 24" x 14" bass ATUM oot saes
Lug, complete, for 24" X 14" bass drum .ccvvssssisisiss

Lug, for 24" X 16" bass drUM v
Lug, complete, for 24" X 16" DaSS drum ocovecocvssvsssns

Lug, for 24" x 18" bass drum ........cc.....
Lug, complete, for 24" X 18" Dass drum ..o

Bass drum plate for 24" x 14" bass drum
Bass drum plate for 24" x 16" bass drum
Bass drum plate for 24" x 18" bass drum

Slotted screw /4" x 125 mm, for 24" x 14" bass drum.........c..c.......
Slotted screw /4" x 135 mm, for 24" x 16" bass drum........ccccc.....
Slotted screw /4" x 145 mm, for 24" x 18" bass drum.......cc..ccc....

Knurled screw '/+" x 125 mm, for 24" x 14" bass drum
Knurled screw /4" x 135 mm, for 24" x 16" bass drum
Knurled screw /4" x 145 mm, for 24" x 18" bass drum

Torx screw for lug, 5 X 16 mm
far Birch and Maple Light shells s
Torx screw for lug, 5 X 20 mm
for Maple Heavy SHellS o

A

Designer Series

121086 . .
741 087 54
741 088 59
741 090 54
741090 59
741 091 54
741 092 54
741093 54
742 016 54
145 270 51
745 211 53

145 272 00
745 275 00
745 217 03
745 28110

145 289 54
145298 73
155 095 54
157 046 10
157 069 12
157 084 12
158 063 00
758 095 00
758 136 00
758 193 00
758194 00
758195 00
758 196 00
158 197 00
758 201 00
758 202 00
758 203 00
758 205 00
758 207 00
758 210 00
759 031 00
801 066 54
802 001 53
805 025 59
840 03110
842126 12
845033 10
845 067 12
84712112

84712212

Bass Drum 18", with Single Lugs

L
Lug for bass drum (single lug)
Lug for bass drum (single lug), COMPIELe .......cowvevervvvvereerivrrirrrrimrienennns
Mount for bass drum spur
Bass drum spur, complete..................
Graduated collar for bass drum spur....
Leg for bass drum spur
Quick-Stop: LeVer s s
Claw hook for bass drum
Metal spike
Set collar 11.5 /20 x 10 mm
Clamping roll 6 x 22 mm
Square-head screw /4"
Threaded bushing for bass drum ..o
SAFLY TOLLET oo
Stopper for tom tom holder on bass drum plate
Thrust pad for stopper on bass drum plate.......
Catch bushing.cwmmmimmsmagsmmm
Tension spring 1.2 X 10.5 X 45 MM .coooovvvvvvvveernrnrne
Tension spring 10.5 X 1.1 X 25 MM ocooevvvvrreciiirnnns
Tension spring 12 X 1 X 17 MM oo
Felt:muttler 70:% 2omim s
Guiding washer 165 M0 s @i,
Rubber washer 20 /5 x 1.5 mm.........
Rubber insulator for bass drum spur .......
Polystyrene Washer ...
Knurled ring @ 52 mm ......
Rubbeifoot. s

RUBDEE Dl OW. s s S s
Rubber insert for claw ROOK ...
Rubber insulator, large, for TUg .............oooceeeeeoerecccceeesesesee
Rubber insulator, small, for lug (single lug)
Rubber insulator for bass drum plate
Knurled ring @ 28 MM ..o
Tune-Safe System for bass drum .......
Adhiesive fortims .
Knurled nut M 8 X 54 MM .coovevennrrnnviviccicisnecc,
Slotted screw for stopper on bass drum plate
Set of keys for bass drum
Notched pin 5 x 20 mm
Flat round serew'M.8:% 50 MIMl.usmsmmssssssmssmsmssssssriasansssisns
S Y WS O™ vusamss oot s s 60 v s G ST
Washer 6.4 mm
Notched pin 3 X 12 MMl ...
Notchedipinms %10 miflescmmmmsmmmmmsms s

Variable Parts oo o ©

¢? SONOR

@ Printed in Germany - Printed on recycled paper

SonorMuseum.de

o!



Designer Series

Bass Drum 18", mit Einzelspannstiitzen
Bass Drum 18", with Single Lugs

1201654 —

74521103

741088 59
|

758136 00
8A109812-B/ML
L 84110412 -MH
-

—— 74109059

212612
(2] o 10905
‘ 4109154
45 06712 o
759 03100 =\ 750692
758194 00
. 758195 00
UM -
003110 - @i
74521200 S
[ s050255 WYL | ‘
w575 ——il | & ~ 801066 54
& | 741092 54
' Sl mrosan2
= B & | U |
- g, 75809500 & - d | 74109353 -
R D>
80200153 »% S —— i i i
745 289 54 = 745275 00 BEN
D) 75820500 S Wmn
U529873 L OB > |\ |
) ] | &—— 758 136 00 | @
& smosp-BML N ——
Ll 34110412 - MK @)

(1)
145218 73 - 14" depth of shell
745 279 73 - 16" depth of shell

(2]
801076 59 - 14" depth of shell
80107759 - 16" depth of shell

801 08159 - 14" depth of shell
801082 59- 16" depth of shell

¢'SONOR

SonorMuseum.de

o




745 218 73
745219 13

801 076 59
80107759

801 081 59
801 082 59

841098 12

841104 12

Variable Parts

Bass drum plate for 18" x 14" Dass drUm ..o
Bass drum plate for 18" X 16" Dass drum oo

Slotted screw /4" x 125 mm, for 18" X 14" bass drum.........c.......
Slotted screw /4" x 135 mm, for 18" x 16" bass drum.................

Knurled screw /4" x 125 mm, for 18" x 14" bass drum
Knurled screw /4" x 135 mm, for 18" x 16" bass drum

Torx screw for lug, 5 X

16 mm

for Birch and Maple Light SHRLISE cscvssssvon et es Brcsasssasmssssessossimsasiatansassss

Torx screw for lug, 5 X
for Maple Heavy shells

20 mm

Designer Series

121 087..

741 087 54
741 088 59
741 090 54
741 090 59
741 091 54
741 092 54
741 093 54
742 016 54
745 270 51
745 271 53
745 2712 00
745 215 00
145 217 03
745 28110
145 289 54
745298 73
755 095 54
157 046 10
157 069 12
157 084 12
758 063 00
758 095 00
758 136 00
158193 00
758 194 00
758 195 00
758 196 00
158 197 00
758 201 00
758 202 00
758 203 00
758 205 00
158 207 00
158 210 00
759 031 00
801 066 54
802 001 53
805 025 00
840 03110
842126 12
845033 10
845 067 12
84712112

84712212

Bass Drum 20", with Single Lugs

RAIIE Q0™ sisisrianiuusesssnervansssisssossiissssassssssaieisass essssssss s ssasis sovassss o passusmsshaavsses
Lug for bass drum (single lug)
Lug for bass drum (single lug), complete .......ccccccccocccccccccccccccsicverens
Mount for bass drUM SPUT ........cveeevveeerememmssssssssssssssssssssssssssssssssssssssssssessssses
Bass drum spur, complete ...
Graduated collar for bass drum spur
Leg for bass drum spur........cccoevvvrnns
QUICK-SEOP LEVET .......oovvevvvveviemiecseeccrrrrsesisssssssasissssssssssssssesssasesesssssessees
Claw hook for bass drum ...
Metal spike
Set collar 11.5 /20 x 10 mm
Glamping o1l 6: %522 DN s R
Square-head screw /5" .ccccooovvevvvvrinns
Threaded bushing for bass drum.....
Safetyroller s s
Stopper for tom tom holder on bass drum plate.......cccccccovvoviviviiiens
Thrust pad for stopper on bass drum plate ...
Catch bushing
Tension spring 1.2 x 10.5 x 45 mm
Tension spring 10.5 x 1.1 x 25 mm
Tension spring 12 x 1 x 17 mm
Felt muffler 70 X 2 MM w.....ooooovecevecvceeeccevevceeeeeseesesessesesesssssssssssssssssssssnnnnnns
Guiding Washer 16.3 M.
Rubber washer 20 /5 x 1.5 mm ......c.........
Rubber insulator for bass drum spur
T A R L T
Knurled ring @ 52 mm ...
Rubber foot.........
Rubber bellow ..o

Rubber insert for claw hooK ...
Rubber ifisulator, large, for g .
Rubber insulator, small, for lug (single 1Ug) ...ooooooooovvvvvciccccnivennnnn,
Rubber insulator for bass drum plate .........cooooovcoooomrcveecrveseecers
Koneled sing U 28 s
Tune-Safe System for bass drum ...,
Adhesive for rims .......ccccccoceeneeee
Knurled nut M 8 X 54 MM oo
Slotted screw for stopper on bass drum plate .....
Set of keys for bass drum .....
Notched piti 5% 20 Mitiisosamnmmimsmmmmsmmsas
Elat round screWw M 8% 50 Miflvumsnmsnssmimaastsinmsig
S ALt WASHET,..istetiiiitimenssnsssomssesssenssnspormmaserssspssitasanionsosssgsnsssssssssssssnass
Washer 6.4 mm
Notched Pin 3% 12 MMluummssirarsmssmmmssasssmmssssismissasigg
Natehed. pin. 3 % 10 Bl s s

Variable Parts oo 0 ©

‘? SONOR @ Printed 1 Germany  Printed on recycled paper

SonorMuseum.de

o



Designer Series

Bass Drum 20", mit Einzelspannstiitzen

R 065 —
Bass Drum 20", with Single Lugs o
@ 745 278 73 - 14" depth of shel
74521973 - 16" depth of shell ™
75820100 745 280 73 - 18" depth of shell
745277 03 (2]
D e 801,076 59- 14" depth of shell
80107759 - 16" depth of shell
74108754 - 80107859 - 18" depth of shell
2 ©
8 - REA3 %0 801 08159 - 14" depth of shell
g — 80108259 16" depth of shell
4 " "
s 71087 801083 59- 18" depth of she
758.202 00
758136 00
84109812 - B/ML ab)
R 84110412 -MH IU
w2
— 758 063 00 E
—— 7109059 Z
o )
842126 12 o
[2) 741090 54 U)
SVHETE- . — 109154
#0672 — 758 136 00
. 759 03100 758193 00
758194 00 -
758195 00 %%
4527153 jl
840 03110
745 272 00
|
— 80502559 = iy 7| |
g 527051 | 801066 54
— g | 74109254
BIME1 - |
0200 5809500 — i d
00153 —
528110 50055 | || ——— 75819700
T528950 —S \ 745275 00 U #11p
: LS
529873 — ! L #0810 D k? |
‘ .
) | | 0 758136 00 |
| &———— 84109812-B/ML '~ —— 158196 00
wae — 34110412 - W

¢! SONOR




Designer Series

E
. 7).~ " Bass Drum 22", with Single Lugs

7S
721088 .. Rifit 22" smmeanms e e e A R e B

141 087 54 Lug for bass drum (single lug)

e Farlee— 1.0
(AL /

Variable Parts

745218 73 Bass drum plate for 20" x 14" bass drum
14521973 Bass drum plate for 20" x 16" bass drum

145 280 73 Bass drum plate for 20" x 18" bass drum 741 088 59 Lug for bass drum (single lug), complete ..........cccoooooooooooerrorererrceeseee
741 090 54 Mount fOr bass drUM SPUT ....uuueeeveevviveveveerersseseesssesesssesessssssssssssesssssssesssnsenns

801 076 59 Slotted screw /4" x 125 mm, for 20" x 14" bass drum ... 741090 59 Bassidrum sput; eompleteiammmammmnmsssmmensm

801 077 59 Slotted screw /4" x 135 mm, for 20" x 16" bass drum .....cccccceeee 741 091 54 Graduated collar for bass drum spur...

801078 59 Slotted screw /4" x 145 mm, for 20" x 18" bass drum........cccc.... 741092 54 Leg fOr bass drUm SPUT coocc...vvoecesveeeeeeeseceneess s

741 093 54 QUICK=STOD LRV Tnisissazsssesusssscsssssosssensisosssssosinsessasisissssisssunsissivsissioisriss

80108159 Knurled screw /" x 125 mm, for 20" x 14" bass drum 742 016 54 Claw hook for bass drum

801 082 59 Knurled screw '/+" x 135 mm, for 20" x 16" bass drum 745 210 51 Metal spike oo
801 083 59 Knurled screw '/+" x 145 mm, for 20" x 18" bass drum 745 271 53 Set collar 11.5 /20 X 10 MM cooverreooeeeeesereseeeesseesnsess s
145 272 00 Clamping roll 6 X 22 MM oo
841098 12 Torx screw for lug, 5 x 16 mm 1745 275 00 Square-head SCrEW /4" ...eieeiriiiisiseesssssssssssssssesssssssssssssssssssssssssssnenes
for Birch and Maple Light Shells co...wwreomeecisinnccsnn 745 277 03 Threaded bushing fOr Dass drUM ..o
841104 12 Torx screw for lug, 5 X 20 mm 745 281 10 (o] | e
for Maple Heavy SHellS .t - 745 289 54 Stopper for tom tom holder on bass drum plate..........cccoccoorreec.

‘ . 745298 73 Thrust pad for stopper on bass drum plate

155 095 54 GatehibusHING:. oo

157 046 10 Tension spring 1.2 x 10.5 x 45 mm
157 069 12 Tension spring 10.5 x 1.1 x 25 mm
157 084 12 Tension spring 12 x 1 x 17 mm
758 063 00 Felt muffler 70 X 2 MM oo,
758 095 00 Guidingwasher-ld.5 MM mmmsermmmmsmsmmt s
158 136 00 Riibber'washer 20 / 5% 1.5 MM o
758 193 00 Rubber insulator for bass drum spur
758 194 00 POLYSEYTENE WASRET .oococesvvecererreccecciniecsiesseceessssssscsnsseseesesssss s
758 195 00 Knurled ring @ 52 mm
758 196 00 Rubber foot
758 197 00 Rubber bellow
158 201 00 Rubber insert for claw hook

758 202 00 Rubber insulator, large, for lug
758 203 00 Rubber insulator, small, for lug (single lug)

758 205 00 Rubber insulator for bass drum plate ...
758 207 00 Knurled ring @ 28 mm ........cccvccccvvvccreen

SonorMuseum.de

758 210 00 Tune-Safe System for bass drum
. . 759 031 00 Adhesive for rims -
801 066 54 Knurled nut M 8 x 54 mm .../
802 001 53 Slotted screw for stopper on bass drum plate ..o,
805 025 00 Set of keys for bass drum
840 03110 Notched pin 5 X 20 MM oo
842126 12 Flat round screw M 8 x 50 mm

of

845033 10 Safety WaSher ........omuinnss

845 06712 WaSHEE 6.4 MMliciiussicssccosssmmmmmsssssismsiissmistismi i
84712112 NOTEHED DI 3% 12 T i s e
84712212 Notched Pin 3 X 10 MM oceeeveeeeeceeririnniniennenismesesennismesmesesssnnesssns

Variable Parts oo G ©

‘f SONOR @ Printed i Germany  Printed on recycled paper 12




Designer Series

Bass Drum 22", mit Einzelspannstiitzen
Bass Drum 22", with Single Lugs

742 016 54

758 20100

74521703 Drum Head

74108754

758203 00

741088 59

74528110
74521500

758202 00

758136 00

841098 12-B/ML
84110412 -MH .~
>

—— 14109059

(3]
802126 12
741090 54
(2] 74109154

845 06712
759 031 00 75818300
45 27153
$40 03110
74527200
|
(80502550 urne —7 I
521051 —— |
B, | .
] | 757084 12
e 4 | | ]
3 15809500 8 | L0935
80200153 —
L 74528110 msosss | 1 ||
4528954 ' | 71525 00 . I VIg—
| D\ 758 205 00 S !
"529873 —— j v Yl
o BRRC S—T Bl
| & 109812-B/ML '~
W — 84110412 - MK S
S~

758 063 00

801066 54

741092 54

(1)
745 278 73 - 14" depth of shell
745279 73 - 16" depth of shell
745 280 73 - 18" depth of shell

(2]
801076 59 - 14" depth of shell
801 077 59 - 16" depth of shell
801078 59 - 18" depth of shell

©
80108159 - 14" depth of shell
801082 59- 16" depth of shell
801083 59-18" depth of shell

¢’ SONOR

SonorMuseum.de

o



Designer Series

Variable Parts Bass Drum 24", with Single Lugs
745 218 73 Bass drum plate for 22" X 14" bass drum.....coocvrvrressivcrrcsssne 721089 .. R T A st e e B et s R ESEES
1452719 73 Bass drum plate for 22" X 16" bass drum ... 741 087 54 Lug for bass drum (single lug)
145 280 73 Bass drum plate for 22" x 18" bass drum..........ccceeovmssccccccccrcrrernenn 741 088 59 Lug for bass drum (single lug), complete ........cccccccccvveverreerrrreresscrns
) 741 090 54 Mount:for bass, GrumESPUL s
801 076 59 Slotted screw /4" x 125 mm, for 22" x 14" bass drum..........ccceence. 741 090 59 Bass drum spur, complete
801077 59 Slotted screw /4" x 135 mm, for 22" x 16" bass drum............co..... 741 091 54 Graduated collar for bass drUM SPUT c....vveeecreeseserressenssssssnssssssseeen
801 078 59 Slotted screw '/s" x 145 mm, for 22" x 18" bass drum............cc... 741 092 54 Leg fOr Dass ArUM SPU ..occvvvvreereerreernsnersinsssisssesssssssessssrsnsssonn
741 093 54 LK S0P LOVEE s ssssusvensssassusssssssassunsisasissssosissssasssussssessassssssssasssessnisi
801 081 59 Knurled screw '/4" x 125 mm, for 22" x 14" bass drum..........c...... 742 016 54 Claw ool For- DUSSTRUM w.mmssmsassisassssssssssasssrssssesvassvssesissessstessnss
801082 59 Knurled screw '/s" x 135 mm, for 22" x 16" bass drum..........ccc....... 745 210 51 Metal spike
801 083 59 Knurled screw '/4" x 145 mm, for 22" x 18" bass drum.................. 745 271 53 Set collar 115/ 20 X 10 MM oo
745 272 00 Clamping roll 6 X 22 MM ... sesesssssmmssesessessneee
841098 12 Torx screw for lug, 5 x 16 mm 745 275 00 Square-head screw '/4"
for Birch and Maple Light Shells ..o 745 277 03 Threaded bushing for bass drvn v
84110412 Torx screw for lug, 5 x 20 mm 745 28110 Safety fOlle v
for Wuple Wempyshell v epsurensaBtmroiton Bammmmmnmemsromsmsnsin: 145 289 54 Stopper for tom tom holder on bass drum plate..........ooccccerecerirerrn.
. ‘ 145 298 73 Thrust pad for stopper on bass drum plate ...,
155 095 54 Cateh bushing..owssusmnsaansmsmsmmmnsmsesn s
157 046 10 Tension:spring 1.2:% 10.5 X 45 MM s
157 069 12 Terision spring 10:5 X 1.1 25 MM susmmummmeimmmans
757 084 12 Tension:spring 127% 1 X ITMM e nmianimommmimsainmmomses
758 063 00 Felt muffler 70 X 2 MM oovoeeeeennmiisissssssssmssmsssssssssssssssssssssssesssssees

758 095 00 Guiding washer 16.3 M
158 136 00 Rubber washer 20 /5 x 1.5 mm
158193 00 Rubber insulator for bass drum spur
758 194 00 POLYSLYTENE WASHET vevvvevveverrerrcceiviniicsnessnsescse s,
758 195 00 Knurled ring © 52 mm .....
758 196 00 Rubber foot....c.uciimin
158 197 00 Rubbet Dellow s s
758 201 00 Rubber insert for claw hook for bass drum ...
758 202 00 Rubber insulator, large, for Iug ........ccoomnrrvvvvroe.
158 203 00 Rubber insulator, small, for lug (single lug)
158 205 00 Rubber insulator for bass drum plate
758 207 00 Knurled ring @ 28 Mihwnonmsmasmmimmmimmim i anm i
758 210 00 Tune-Safe System for bass drum
. . 759 031 00 AARESTVE FOT TIMS wooooooeeeceeeeesresees s
801 066 54 Krititled mutiM:8 XS4 M asosessssssnsisssmmmssssssmnsivsmsisimssimims
802 001 53 Slotted screw for stopper on bass drum plate ......
805 025 00 Set of keys for bass drum
840 03110 Notched pin 5 x 20 mm .................
842126 12 Flat round screw M 8 x 50 mm....
‘ 845033 10 Safety washer ...
‘ 845 067 12 Washer 6.4 mm.......
‘ 84712112 Notched pin 3 x 12 mm
r 84712212 Notched pin 3 x 10 mm

Variable Parts oo 0 ©

‘? SONOR @ Printed in Germany  Printed on recycled paper 13

SonorMuseum.de

o



Designer Series

Bass Drum 24", mit Einzelspannstiitzen
Bass Drum 24", with Single Lugs

742016 54

(1]
745278 73 - 14" depth of shell
74521973 - 16" depth of shell
745280 73 - 18" depth of shell

(2]
801076 59 - 14" depth of shell
801077 59 - 16" depth of shell
801078 59 - 18" depth of shell

©
80108159 - 14" depth of shell
801082 59- 16" depth of shell
801083 59- 18" depth of shell

758 20100

4521103

Drum Head

74108859
|

£
i I@Q 45 28110

L 745275 00

75820200

758136 00
841098 12 - B/ML

— 8110412 -MH
4

SonorMuseum.de

758 063 00
- 109059
(3]
$4212612
841098 12 B/ML 741090 54
9 110412 - M 741091 54
845 06712 758136 00 / o
~N IS
75903100 758193 00 ’ N\ 75706912
758194 00

15819500

UM -
003110 —
74521200
wmn — |
|
521051 | 801066 54
" | 74109254
wus —& | U |
803500 g [ 74109353
755 095 54 | ———— 75819700
| U s
U529873 - 0B —Fp k? |
o l _ 758 136 00 o
B ! B
S u0BL2-BML N 158196 00
B - 84110412 - MH .

o' SONOR

o



145 278 73
14521913
745280 73

801076 59
= 80107759
801 078 59
801 08159
801082 59
801 083 59
841098 12

841104 12

Variable Parts

Bass drum plate for 24" X 14" bass drum e
Bass drum plate for 24" X 16" Dass drum v
Bass drum plate for 24" X 18" Dass druM v

Slotted screw /4" x 125 mm, for 24" x 14" bass drum
Slotted screw '/« x 135 mm, for 24" x 16" bass drum
Slotted screw /4" x 145 mm, for 24" x 18" bass drum

Knurled screw /4" x 125 mm, for 24" x 14" bass drum..........c.....
Knurled screw /4" x 135 mm, for 24" x 16" bass drum..........c......
Knurled screw /4" x 145 mm, for 24" x 18" bass drum........cc........

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light SHElIS i
Torx screw for lug, 5 x 20 mm
T ) 8 (iR L R ————————

t

Designer Series

121028 73
741 096 54
741 097 54
141100 54
741100 59
745 215 00
145 216 03
145 28110
145 281 52
145 312 74
145 400 59
157 09112
158 136 00
158 202 00
758 204 00
758 206 00
158 207 00
1758 209 00
758 213 00
158 216 00
158 219 00
158 226 00
801002 53
801 06954
801 070 54
845 068 10

841098 12

841104 12

Tom Tom 8", with Long Lugs

Clamping ring for tom tom mount
Lug, for 8" x 8" tom tom ......cccccoeeerrrrrcrnns
Lug, complete, for 8" x 8" tom tom
SOUATENEAN SeTaW Al s i e S
Threaded bushing 8 x 35 mm....
Safety roller ...

Threaded component of tom tomM MOUNE........coormerrrrrrreveeeeerrrereeerenninens

Connecting rail for tom tom mount
Torh o Molnt, ComMplete s maanpumanimaaermErEREGES
Tension spring, for ACOUSLIGALE cc.uuuvvunvvvrreeerieerieeses e
Rubber washer 20 /5 x 1.5 mm....
Rubber insulator; large, for-lug ...
Rubber insulator for tom tom MOUNT ....coccvevmrvvvevrveneriiiinren s
Katrled TED 44 I ..o S S popees SR
Knurled ring @ 28 MM ..o
Tune-Safe System
Rubber insulator for tom tom SOCKEL ......ccoovvvvreercvvcrierrrireerrseeeernees
Polystyrene washer 43 / 30.3 X I MM ...ivvvvsvssssssvssssssssssssssssssssssssssins
Polystyrene washer, for AcoustiGate
Rubber bellow, for ACOUStIGALE ........ooevvereereerersrereeereiees e
Slotted screw for rim /4" X 46 MM ..ooovvvvvvveescesecccreeeeee e
Knurled nut M 30 x 1.5 x 45 mm ..............

Knurled nut M 6 x 28, for AcoustiGate
Polyamide washer

Variable Parts

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells
Torx screw for lug, 5 x 20 mm
for Maple:Heavy:shells..cuwmusmmanmsssamssmmmsisi

o' SONOR

® Printed in Germany  Printed on recycled paper

e e

SonorMuseum.de

o



Designer Series

Tom Tom 8", mit Doppelspannstiitzen
Tom Tom 8", with Long Lugs

84109812 - B/ML
34110412 - MH

758136 00

14528752

4109754
758216 00 (]

74540059

o
80106964
758 206 00
531274

80100253
80107054 i
758 207 00 w1
758 219 0
758 226,00 087
751,091 2

- brumHead

84109812 - B/ML
84110412 - MH
758136 00

158 202 00

758 209 00

745276 03

741100 59

745 275 00 ‘é ,

us2s110 —

/

(&

1 1)

o] "\ Ay
/{ [ , \ :

\ !

= | i i
/

80100253 _E E L

____(.

A\

(Cmm@

' SONOR

SonorMuseum.de

o



Designer Series

72102973
741 096 54
741 097 54
745 215 00
145 276 03
745 28110
745 287 52
157 09112
758 136 00
158 202 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
158 216 00
158 219 00
758 226 00
801002 53
801 069 64
801 070 54
845 068 10

141100 54
741100 59

741101 54
74110159

741102 54
741102 59

145312 74
145 313 74
145 314 74
745 401 59
745 403 59
745 415 59
841098 12

841104 12

Tom Tom 10", with Long Lugs

Socket for tom: tOM MOUDNE wuuusessessisuminsausiinsscssmsssmassssssssissusssssssssssssensiss
Clamping ring for tom tom socket.............
Square-head Screw i suns s s ronmmmmmnm s
Threaded bushing 8 X 35 MM .......oooovveeeeiiemmmmenreriresiiiiisinsssssnesesenennens
Safety roller..........ccoo.
Threaded component of tom tom mount
Tension spring, for ACOUSHIGALE .............oovvvvvveveeremmmmerrrsrrserecssssssesiinssenns
Rubber washer 20 / 5 x 1.5 mm RN
Rubber insulator, 1arge, for IUg ...,
Rubber insulator for tom tom MOUNL .........ccvvveeeeeemmmresrseerenresreseeesinnns
Knurled ring @ 44 mm .....c.o.cooevenec. i SRS
Kiiiirled rifig'd 28 Ml inmmmmnsmmmme s
TUNE-SAfE SYSLEIM .vvvvvvvvevvvcevierennnereeseeeeseseeeessssssssesssasesesssnanes

Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 X 1 MM cecevreereererrescsimeeneressnnenensesssnnee
Polystyrene washer, for AcoustiGate
Rubber bellow, for ACOUSIGALE .......coovvuiveneeeeeeeeeeee et
Slotted screw for Rim /4" X 40 MM c.oovvvvvvevererercesessssssssssssssssssssssssssssssss
Knurled nut M 30 x 1.5 x 45 mm ...........
Knurled nut M 6 x 28, for AcoustiGate
Polyamide Washer s smumummmamsnmmsammsmmmm e

Variable Parts

Liug; f6F-10" % 8 tOMU0M sz
Lug, complete for 10" X 8" tOM tOM .ccoovvvevecreceverersrsrrrrsssssscsseeineninennns

Lug, for 10" X 9" tOM LOM .ooovicccerreesrierereessmeensresmsessssssessesssesssneesnnes
Lug, completefor 10* %9" Tom: Tomsumsmsmmsiissssmssssssaasing

Lug; For 10" X 10" 1OM T0H ..o cisiisitmmmesssiisissioss rsirorssmssssstissisisstosge
Lug, complete for 10" X 10" tOM LOM w..cvvvrrrioveernerersesnninn e

Connecting rail for tom tom mount, for 10" x 8" tom tom .............
Connecting rail for tom tom mount, for 10" x 9" tom tom .............
Connecting rail for tom tom mount, for 10" x 10" tom tom ...........

Tom tom mount, complete, for 10" X 8" tom tom ......cccvvvvvvvvvennne
Tom tom mount, complete, for 10" X 9" tom tom ....oooocccccvvcvriivinnnns
Tom tom mount, complete, for 10" X 10" tom tOM w..coocvvvvvvvvrrrvvicrrien

Torx screw for lug, 5 x 16 mm
forBirch and Maple Light shells ..o
Torx screw for lug, 5 x 20 mm
for Maple Heavy Shells .........mmrsimensnemsssssssisssessneseessessesssesnse

‘? SONOR @ Printed 1n Germany  Printed on recycled paper

15

SonorMuseum.de

&



Designer Series

Tom Tom 10", mit Doppelspannstiitzen
Tom Tom 10", with Long Lugs

80106954
758 206 00

801070 54
758 20700
758 219 00
158 226 00

75709112

84109812 - B/ML

84110412 - MH

758136 00

758 202 00
\'}@

745 215 00 —é |[||

w8110 —

758209 00
745216 03

84109812 - B/ML

84110412 - MH
158136 00

—— 15820400

80100253

845068 10

845 06810 i
80100253 —

U L 1102973

CCmm@

L DrumHead

(1]
741100 54
74110154
74110254

2]
74110059
74110159
74110259

3]
53274
531374
7531474

4]
74540159
74540359
74541559

- 8" depth of shell
- 9" depth of shell
- 10" depth of shell

- 8" depth of shell
- 9" depth of shell
- 10" depth of shell

- 8" depth of shell
- 9" depth of shell
- 10" depth of shell

- 8" depth of shell
- 9" depth of shell
- 10" depth of shell

¢" SONOR

SonorMuseum.de

o



Designer Series

Tom Tom 12", with Long Lugs

72100173 R 2 5 it e it e et s e e e
741 096 54 Socket for tom tom mount B B
741 097 54 Clamping ring for tom tOMISOCKeE . ciccississaisssssssssssssmsimmssssanasmssaminasisss
145 275 00 Square=head serew: /i . summaimsusmsmisasmainmbaiig
745 216 03 Thréaded bushing: 8 X 35 MM nuanssammmmmmmrmrsman:
745 28110 SAFELY TOLLET c.ovvvvvvvvevesemsmmeemssssssessssessssssssssssssssssessssssasssnsssssssssssssssssssssssssss
145 287 52 Threaded component of tom tom mount..
757 09112 Tension Spring, for ACOUSHIGALE ........cwvcwevmuuummrmrrsccesssssmmseinesecssssssssenes
758 136 00 Rubber washer 20 / 5 x 1.5 mm........ T
158 202 00 Rubber insulator, large, for lug........... e i
158 204 00 Rubber insulator for tom tom MOUNE vveeeeeueerrrveeesscreneeeeeienssnennens
158 206 00 Knurled ring @ 44 MM ocnnirceecmmmsssssssssssvesssessenes
158 207 00 Kritirled ringgls2 QamMd e s e essssssssssisssssisssstsssitessinsassa

758 209 00 Tune-Safe System ...
758 213 00 Rubber insulator for tom tom socket
158 216 00 Polystyrene washer 43 / 30.3 x 1 mm
758 219 00 Polystyrene washer, for ACOUStiGate..........cccccccvvovvvvirevnieninnn

758 226 00 Rubberbellow; for: ACOUSHGALE wusmsmmsssissimssssssmiassasssssvivivs
801 069 84 Knurled nut M 30 x 1.5 x 45 mm

801 070 54 Knurled nut M 6 x 28, for ACOUStIGALE ...............oovvervvrvrvrreriecssss
845 068 10 POlYAmide WASHET c...ovvooeveecenescsinserssmsssssssssssssssssssmsssssssssssssssssssssssssns

Variable Parts

741100 54 rag, for 18 xBRlom o] cwommeonsmmnusmmenmsmesam:
741100 59 Lug; eomplete for. 12" x 8" tomtom: . ommmmarsoaismmspsmnssisssso
741102 54 BITIR 1T b (1l 1111 01| R ——————
741102 59 Lug, complete for 12" X 10" 0M LOM e
741104 54 RITIN ( 100 VAR VAR T (0] B —————————
741104 59 Lug, complete for 12" X 12" t0M 10M v
745 312 74 Connecting rail for tom tom mount, for 12" x 8" tom tom ............
745 314 74 Connecting rail for tom tom mount, for 12" x 10" tom tom ..........
745 316 74 Connecting rail for tom tom mount, for 12" x 12" tom tom .........
745 402 59 Tom tom mount, complete, for 12" X 8" tom tOM w.oovvvvvvvvvrrcrce,
745 406 59 Tom tom mount, complete, for 12" X 10" tom tOM .......ooovovvcvcvciicn
745 410 59 Tom tom mount, complete, for 12" X 12" tom tom .......ccocevvverrcnes

801002 53 Slotted screw for rim, /4" X 46 mm

for 12" x 8" und 12" % 10" tOM tOMS vianiiimiiiusmmmeiimiiivisss it
801004 53 Slotted screw for rim, /4" X 55 mm
TR D7l S ———

841098 12 Torx screw for lug, 5 x 16 mm

for Birch and Maple Light Shells ce.vrvvnvcrrssisssinncsssins
841104 12 Torx screw for lug, 5 x 20 mm

forMaple Heavy SHells s smmasssosn

" SONOR @ Printed in Germany Printed on recycled paper 16

SonorMuseum.de

&



Designer Series

Tom Tom 12", mit Doppelspannstiitzen
Tom Tom 12", with Long Lugs

145 28152
74109754
158 216 00

801070 54
758 20700
75821900
158 226 00
15109112

841098 12 - B/ML

84110412 - MH
758 136 00
758 202 00
(O]
& 758 209 00
\I(@ 745276 03
© - 745 275 00 —é
u528100 —(9
(1]

758136 00

84109812 - B/ML
84110412 - MH

0, L 72100173

Drum Head

(1)
741100 54 - 8" depth of shell
741102 54 - 10" depth of shell
741104 54 - 12" depth of shell

2]
74110059 - 8" depth of shell
74110259 - 10" depth of shell
74110459 - 12" depth of shell

(3]
74531274 - 8" depth of shell
745314 74 - 10" depth of shell
745316 74 - 12" depth of shell

(4]
74540259 - 8" depth of shell
145406 59 - 10" depth of shell
745 410 59 - 12" depth of shell

(5]
80100253 - 8" and 10" depth of shell
801004 53 - 12" depth of shell

¢' SONOR

SonorMuseum.de

o



Designer Series

12100273
741 096 54
741 097 54
745 215 00
145 276 03
745 28110
745 281 52
15709112
758 136 00
758 202 00
158 204 00
158 206 00
758 207 00
758 209 00
158 213 00
158 216 00
158 219 00
158 226 00
801069 54
801070 54
845 068 10

741101 54
741101 59

141103 54
741103 59

741105 54
741105 59

145 313 74
745 315 74
745 317 74
745 404 59
745 408 59
745 413 59
801002 53
801 004 53

801 059 53

841098 12

841104 12

Tom Tom 13", with Long Lugs

Rim 13"
Socket for tom tom mount ...
Clamping ring for tom tom SOCKEL ..c..vvevveroseserrrrecressesressssreesnees
Square-head SCIeW /5" ....ccooieeerreccssieeenssscsssssssesesssessss s
Threaded bushing 8 x 35 mm
Safety roller S RS S R e s
Threaded component of tom tom MOUNt..........uvuvvvvvveneeen

Tensionispring; for:AcOuStIGALE it

Ritbbér washer: 2045 X165 MM msisnasnssssis
Rubber inisilator, latge; for B sz
Rubber insulator for tom tOm MOUNL ..............covvveveereceeerieesereenes
Knurled fing @ 44 M ..o i s
Knurled ring 0 28 MM coccoeveeverrrnssscimissenessessssisissssssesssssisssssssesess
Tune:Safe: Systemicssssissinsesaisssn

Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 x 1 mm
Polystyrene washer, for ACOUSHGALE .....vvvvvvvrrsvvrrssmnrrssssnerssisssssenes
Rubber bellow, for ACOUSLIGALE ......covvurmrvenieeireeirerieereseiscesienssiene
Knurled nut M 30 x 1.5 x 45 mm
Knurled nut M 6 X 28, for ACOUSEIGALE .....ccuumremrrrrirrrinnsrsrsisssissssnens
PolyamideWasHer st

Variable Parts

Lug; for15%:% 9" 00N .ovmumamimnimmmmsm s
Lug, complete for 13" x 9" tom tom

V1T & AR (o O ——————
Liig; comiplete for 13" X 11™ tmEOMl . cwmmmmmmssmsasisassseasss

Lug, for 13" X 13" tOM LOM ccovvvirerevirreresiinnnsnnssesssssnsinssssscsssssainesns
Lug, completefor 13° X 13™ 10M 0 ccmusiismmusssssssisiscssssesiaes

Connecting rail for tom tom mount, for 13" x 9" tom tom ............
Connecting rail for tom tom mount, for 13" x 11" tom tom ...........
Connecting rail for tom tom mount, for 13" x 13" tom tom ...........

Tom tom mount, complete, for 13" x 9" tom tOM .....cccooerrrrvreverree
Tom tom mount, complete, for 13" x 11" tom tOM ...ccoooovvvveercrerencenes
Tom tom mount, complete, for 13" x 13" tom tom .....cccocevvereerrrirrnne.

Slotted screw for rim, '/+" x 46 mm
for13x G (oI ROMIS: s R
Slotted screw for rim, /4" x 55 mm
fOr 13" X 11" OM LOMS wovvevvercercrrsnsoesscsesssissrssssssessssssessssesssneneses
Slotted screw for rim, /4" x 60 mm
for 13 % 13" B0 OIS s s R e

Torx screw for lug, 5 X 16 mm
for Birch and Maple Light shells ...
Torx screw for lug, 5 X 20 mm
for Maple Heavy shells

@ Printed in Germany  Printed on recycled paper 17

SonorMuseum.de

&



Designer Series

Tom Tom 13", mit Doppelspannstiitzen
Tom Tom 13", with Long Lugs

(1]
4110154 - 9" depth of shell
—— 758136 00 841098 12 - B/ML 74110354 - 11" depth of shell
841098 12 - B/ML 44110412 - MH 741105 54 - 13" depth of shell
84110412 - MH 758136 00
(2]
758204 00 74110159 - 9" depth of shell

4528752
74109754
758 216 00

74110359 - 11" depth of shell
74110559 - 13" depth of shell

3]
74531374 - 9" depth of shell
74531574 - 11" depth of shell
74531774 - 13" depth of shell

(4]
74540459 - 9" depth of shell
745408 59- 11" depth of shell
745413 59 - 13" depth of shell

(5]
80100253- 9" depth of shell
801004 53- 11" depth of shell
801 059 53- 13" depth of shell

Q9
801069 54
758 206 00

5]
801070 54 815 068 10
758 20700
758 21900
758 226 00

15109112

84109812 - B/ML
84110412 - MH
758136 00

758 202 00

758 209 00

7 (
o) \ﬁ@ 145276 03

L2 I f‘ i

w8110 —f

i
. 72100273
L e Drum Head

¢' SONOR

SonorMuseum.de

o



A

Designer Series

721003 73
741 096 54
141 097 54
745 215 00
145 276 03
74528110
145 281 52
15709112
758 136 00
158 202 00
158 204 00
758 206 00
158 207 00
758 209 00
158 213 00
158 216 00
158 219 00
758 226 00
801 069 54
801 070 54
845 068 10

141102 54
741102 59

741104 54
741104 59

741110 54
741110 59

145 314 74
745 316 74
145 318 74
745 407 59
145 411 59
145 415 59
801002 53

801004 53

841098 12

841104 12

Tom Tom 14", with Long Lugs

Rim 14" ...... . T S
Socket for tom tom mount .. i . N

Clamping ring for tom tom SocKet ........cccccocccccccvcvvccvirrevrrrnrnne
Square-head serew i oo

Threaded bushing 8 x 35 mm....
SALRLY TOILET wovvrrereeniverrercesinnsrne s
Threaded component of tom tom MOUNE....ccccooecevvecevescerecccrevcsrrrrrivirins
Tension spring, for AcoustiGate
Rubberwasher 207/ %15 mamsmmnmmmmsmsmeiie
Rubber insulator, 1arge, for g ...,
Rubber insulator for tom tom mount
Knurled ring @ 44 MM ...
Knurledirifig0 28IMM s
Tune:Safe SYStenl mmemmussamiss

Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 x 1 mm
Polystyrene washer, for ACOUSHGALE .......occoocciiiecevcccccccsssice
Riibber bellow, for ACGUSHGALE s
Knurled nut M 30 x 1.5 x 45 mm
Knurled nut M 6 X 28, for ACOUSHIGALE ....cvoveeereeeeeeee e
Polyamide WaSher ...

Variable Parts

Lug; for 14" 20 oM O osmsmsmmsssmsmoimimsssmmssssssssosssssssases
Lug, complete for 14" x 10" tom tom

Iilig, f0 14" %10 BOTOOM sssousomssucssssoratsimasosonsse e S S s
Lug, complete for 14" X 12" tOM tOM ...coovvvvcscvvrrccciierecescnnnnnrenaee

T ) AR (1) 1 O —————————
Lig, complete for 14" % 14" tom WM

Connecting rail for tom tom mount, for 14" x 10" tom tom ...........
Connecting rail for tom tom mount, for 14" x 12" tom tom ...........
Connecting rail for tom tom mount, for 14" x 14" tom tom ...........

Tom tom mount, complete, for 14" x 10" tom tom
Tom tom mount, complete, for 14" x 12" tom tom
Tom tom mount, complete, for 14" x 14" tom tom

Slotted screw for rim, '/+" X 46 mm
for 14" x 10" und 14" X 14" tOM tOMS ..covvrrmmnrrrrnrrrcrrrvrriressssssernen
Slotted screw for rim, '/4" X 55 mm
FOr 14" X 12" LOM LOMIS evvvrrereeeeeiesessissesisessies s,

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ..o
Torx screw for lug, 5 x 20 mm
for Maple Heavyshells.csmmmmomanmmanmsemomsssisoss

*? SON R @ Printed in Germany  Printed on recycled paper 18

SonorMuseum.de

&



Designer Series

Tom Tom 14", mit Doppelspannstiitzen
Tom Tom 14", with Long Lugs

Q
801069 54
758 206 00

80107054
758 20700
75821900 NN—
758 226 00
75700112

841098 12 - B/ML

84110412 - MH
758136 00
758 202 00
(O
758 209 00
\/ @ 745276 03
745 275 00 ‘

u528110 —

758136 00

84109812 - B/ML
84110412 - MH

X

841098 12 - B/ML

84110412 - MH
158136 00

— 15820400

— 12100373

| e

— Drum Head

(5]

845068 10

12100373

Drum Head

(1)
741102 54 - 10" depth of shell
741104 54 - 12" depth of shell
741110 54 - 14" depth of shell

(2]
74110259 - 10" depth of shell
70110459 - 12" depth of shell
741110 59 - 14" depth of shell

(3]
745314 74 - 10" depth of shell
745 316 74 - 12" depth of shell
745318 74 - 14" depth of shell

4]
14540759 - 10" depth of shell
74541159 - 12" depth of shell
745415 59 - 14" depth of shell

e
80100253 - 10" and 14" depth of shell
801004 53 - 12" depth of shell

Mo X

"/,//; 324

e ot -
NG ON

¢' SONOR

SonorMuseum.de

o



Designer Series

721030 73
741 096 54
741 097 54
745 215 00
745 216 03
745 28110
745 281 52
757 09112
758 136 00
758 202 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
158 226 00
801 069 54
801 070 54
845 068 10

141103 54
741103 59

741105 54
741105 59

741110 54
741110 59

74531574
745 317 14
745 318 74
745 409 59
745 414 59
745 417 59
801004 53

801 059 53

841098 12

841104 12

Tom Tom 15", with Long Lugs

Rim 15" ..
Socket for tom tom mount
Clamping ring for tom tom socket
Square-head Serew /e s
Threaded bushing 8 X 35 MM ...ricrrererrreeceeieesesisssseeeesenssssseseenees
QALY TONICEL ssisestisismiisannsbssssosssstremmssusmssusanmsosssssosissssssssizsnsisssesssndsssssnsens
Threaded component of tom tOmM MOUNt.....vvvvveeeerreeeeeceeeeeereeeen.
Tension spring, for AcoustiGate ..... I ——
R bET WaASHEE 200/ S T s s osos i epseane
Rubber insulator, large, for [Ug ......iiicicessiieverereenene
Rubber insulator for tom tom mount .
Knurled ring @ 44 MM ..o sessesseene
Knurled ring @ 28 mm ..o ;
T TS AL €S T T 55500 enaraeess i R o OO iR S
Rubber insulator for tom tom SOCKEE ..............vvoeeoeeeeeer e
Polystyrene washer 43 / 30.3 X I MM .....coccnnnnncnssssssmsmsescssessssssss
Polystyrene washer, for ACOUStIGALE.........oooocvvcvcrnrnrrnrsssssssiinirirnnese
Ruibber bellow; forACOUSHGAE wsssimmumssarmsmminimsii
Knurled. nut M 30X 1.5 X 45 MM s
Knurled nut M 6 X 28, for ACOUSHIGALE ....cvoveeereerrieereeeeeee oo
Polyamide WaSher ...,

Variable Parts

Lig, for 15" % 11" t0M L0Mccicrrinrssisismmmmsssmmensssssssussmssesmssmssssssssssesissisos
Lug, complete for 15" X 11" tOm L0M v

Lug; for15"% 13" 10 WMo
Lug; complete for 15" % 13" 1OM YOI wsucssessismsssissmmssssessissnivns

AT AR (0108 b0 & 5 J (1)1 )1 RI———————
Lug; complete for 15" % 15 tom 10 .

Connecting rail for tom tom mount, for 15" x 11" tom tom ..........
Connecting rail for tom tom mount, for 15" x 13" tom tom ...........
Connecting rail for tom tom mount, for 15" x 15" tom tom ...........

Tom tom mount, complete, for 15" x 11" tom tom
Tom tom mount, complete, for 15" x 13" tom tom
Tom tom mount, complete, for 15" x 15" tom tom

Slotted screw for rim, /4" x 55 mm
for 15" x 11" und 15" X 15" £0M LOMS wcovvrevrrevrrrsesssssssisssssssssssssnsens
Slotted screw for rim, '/4" x 60 mm
T D R (0]1 1 B 01 L e

Torx screw for lug, 5 X 16 mm
for Birch and Maple Light shells ...
Torx screw for lug, 5 x 20 mm
for Maple HEavyBhellS s s

‘ S 0 ® Printed in Germany  Printed on recycled paper

¢ SonorMuseum.de



Designer Series

.‘ Tom Tom 15", mit Doppelspannstiitzen
Tom Tom 15", with Long Lugs

74110354 - 11" depth of shell

— 758136 00 841098 12 - B/ML 74110554 - 13" depth of shell
841098 12 - B/ML 8110412 - MH 74111054 - 15" depth of shell
84110412 - MH 758136 00
S (2]
A\ 74110359 - 11" depth of shell
758 204 00

4528152
741097 54

74110559 - 13" depth of shell
74111059 - 15" depth of shell

(3]
74531574 - 11" depth of shell
745 31774 - 13" depth of shell
745 318 74 - 15" depth of shell

0 0 n
801069 54 745409 59 - 11" depth of shell
] 745414 59 - 13" depth of shel
75820600 4541759 - 15" depth of shell

(5]
801004 53- 11" and 15" depth of shell
801 059 53 - 13" depth of shell

(5]
801070 54
758 20700 51— 84506810
758219 00
758226 00 —— 712103073
75709112 |

——  Drum Head

84109812 - B/ML

84110412 - MH
758136 00
758202 00

%@ 758 209 00
. N7 @ 745 276 03
o - ;
745 275 00 %
I
w5280 —
(1]

%/{ I

84506810 —
6 _;E

L DrumHead

' SONOR

SonorMuseum.de

)



N

721006 73
741 096 54
741097 54
745 215 00
745 276 03
745 281 10
745 287 52
757091 12
758 136 00
758 202 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
758 226 00
801 069 64
801 070 54
845 068 10

141104 54
741104 59

741110 54
741110 59

741111 54
74111159

745 316 74
745318 74
145320 74
745 412 59
745 416 59
745 418 59
801 002 53

801 004 53

841098 12

841104 12

Designer Series

Tom Tom 16", with Long Lugs

2311 L ——
Socket for tom tom mount
Clamping ring for tom tom socket
SQuAre-head SCIEW /5" ........vrererereesmsssmmmamssssssssssssesesssssssssssssssssssssssseses
Threaded bushing 8 X 35 MM ......ceenereirerereveevecseesssssesseseessssssessenes
Safety roller
Threaded component of tom tom mount
Tension spring, for AcoustiGate ...
Rubber washer 20 / 5 X 1.5 MM coocevvvvvvoerreeeeeeeseeeneresiesssseees
Rubber insulator, large, for lug
Rubber insulator for tom tom mount
Knurled ring 0 44 mm :
Knurled ring @ 28 MM ..o
Tune-Safe System........ .
Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 X 1 MM...ccooouniinmsmmvsnscssssssssiinas
Polystyrene washer, for ACOUSHGALE ........cccccoovccmrrrrrrrsssiicsiiricrneeccccssas
Rubber bellow, for ACOUSHIGALE ......vveerceeeercriricceriirneeseiss s
Knurled nut M 30 X 1.5 X 45 MM coooovervveeecereesneceninsssrinnennes
Knurled nut M 6 x 28, for ACOUSHIGALE .........cvveeeerveeeeerree e
Polyamide washer

Variable Parts

Liig, $6i716" % 12" L0M P0NT sosmssscsssanssomssiusstsssssimissssssssssisssvssision
Lug, complete for 16" X 12" tOM LOM w..oovvriiiverrnssisreerscsesrresssnnnins

Lug, for16%% 14" 10 10D ccmecmemmmsmmmissismisiissssmmmsmssosmssssse
Lug, complete for 16" X 14" tOM tOM ...ooovvrvcsvvsinssescrssrrersno

Liig, f0r 16" 16" YoM 10w
Lug, complete for 16" x 16" tom tom

Connecting rail for tom tom mount, for 16" x 12" tom tom............
Connecting rail for tom tom mount, for 16 x 14" tom tom ..........
Connecting rail for tom tom mount, for 16" x 16" tom tom ...........

Tom tom mount, complete, for 16" x 12" tom tom
Tom tom mount, complete, for 16" x 14" tom tom
Tom tom mount, complete, for 16" x 16" tom tom

Slotted screw for rim, '/+" x 40 mm
for 16" x 14" und 16" X 16" 10M LOMS w.vvvvvvvvvveeereeeeeeeeeeeeeeeeeereeeeee e
Slotted screw for rim, '/4" x 55 mm
For-T6"% 12" TOTH LOMIS e e g

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ..........cmmimnciriicnssisisnsnns
Torx screw for lug, 5 x 20 mm
for Maple HEavy SHeIS wsii e

‘? SONOR @ Printed in Germany  Printed on recycled paper

20

SonorMuseum.de

&




Designer Series

. Tom Tom 16", mit Doppelspannstiitzen
Tom Tom 16", with Long Lugs

(1)
741104 54 - 12" depth of shell
[ e e 758136 00 84109812 - B/ML 741110 54 - 14" depth of shell
84109812 - B/ML 84110412 - MH 14111154 - 16" depth of shell
84110412 - MH 758136 00
;\ (2]
L 15320800 741104 59 - 12" depth of shell

T41110 59 - 14" depth of shell
14111159 - 16" depth of shell

3]
145316 74 - 12" depth of shell
745318 74 - 14" depth of shell
74532074 - 16" depth of shell

(4]
745 412 59 - 12" depth of shell
745416 59 - 14" depth of shell
745 418 59 - 16" depth of shell

e
80100253 - 14" and 16" depth of shell
801004 53 - 12" depth of shell

4528152
741097 54

9
801069 54
758 206 00

80107054
158 20700
75821900
158 226 00
15109112

84109812 - B/ML

84110412 - MH
758136 00
]— 758 202 00

9" smwn ‘

528100 —(

O

758209 00
745216 03

721006 73

' ; L Drum Head

¢’ SONOR

SonorMuseum.de

o



Designer Series

721028 73
741 087 54
741 087 59
741 096 54
741 097 54
745 275 00
745 276 03
745 281 10
745 287 52
745 312 74
745 400 59
757 09112
758 136 00
758 202 00
758 203 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
758 226 00
801 002 53
801 069 54
801 070 54
845 068 10

841 098 12

841104 12

Tom Tom 8", with Single Lugs

Rim 8" .. .
Lug (single lug) .........
Lug (single 1ug), COMPIELe.....coovvrmomorrereicccccccccccceemerisisssssssissssssssennees
Socketifortom tomsmounti i sduamnmmnam
Clamping ring for tom tom SOCKEL ........ooovsececivrrrrrerrrrses
Square-head screw /4"
Threaded bushing 8 x 35 mm
Safetytoller: s
Threaded component of tom tom mount
Connecting rail for tom tom MOUNE ..ccccooeeenerreeeeresesesresssisssissssnenns
Tom tom mount, complete ...,
Tension spring, for AcoustiGate
Rubber washer 20 /5 x 1.5 mm
Rubber insulator, large, for 1Ug ...,
Rubber insulator, small, for lug (single lug)
Rubber insulator for tom tom mount
Knurled ring @ 44 mm
Knurled ring @ 28 mm
TuTiE-Sale: SYS eI s R SR T,
Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 x 1 mm
Polystyrene washer, for ACOUSIGALE ......ovccocevveecvevcsvsssssssssssssesesserssssisiiaa,
Rubberbellow; forAcoustiGate «upsmmnmmnmmmsmsaas
Slotted screw for rim /5" x 46 mm
Knurled nut M 30 X 1.5 X 45 MM oo eeeneens
Knurled nut M 6 X 28, for ACOUSHIGALE ...cvvvvrvvveeeeeeeeeeeeeseeeeesees
Polyamidewasher s

Variable Parts

Torx screw for lug, 5 x 16 mm
for'Birch and Maple Light shells ..
Torx screw for lug, 5 x 20 mm
for MagleHeavy shells,.mwommmsummmsammmsomanguomsarn

‘? SONOR @ Printed in Germany  Printed on recycled paper 21

SonorMuseum.de

&



Designer Series

Tom Tom 8", mit Einzelspannstiitzen
Tom Tom 8", with Single Lugs

84109812 - B/ML

84109812 - B/ML 84110412 - MH

84110412 - MH
X

45 28752
4109754 =

P,
758216 00 o , ON

KPS
&
.k

P

745400 59

80106954
758 206 00
14531274

80100253

80107054
158 207 00
758 21900
758 226 00
75109112

845068 10

841098 12 - B/ML

84110412 - MK
758136 00
75820200
758 209 00
= 4527603
® :
745275 00 s
74528110
Il mosts
758 203 00

()

N/
N

r

506810 — @ |

80100253 — q |
Y - moss

. L DrumHead

¢' SONOR

SonorMuseum.de

o



Designer Series

121029 73
741 087 54
741 087 59
741 096 54
741 097 54
745 275 00
745 276 03
745 281 10
745 287 52
157 09112
758 136 00
758 202 00
758 203 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
758 226 00
801002 53
801 069 54
801 070 54
845 068 10

145 312 74
145313 74
145314 74

745 401 59
745 403 59
745 405 59
841098 12

841104 12

Tom Tom 10", with Single Lugs

Rim 10" L -
IR 1-d I 11 7:) ES—————"—— S P
Lug:(single 1ug)) completei s
Socket for tom tom mount s
Clamping ring for tom tom SOCKEL .........occourevivrecrrrrrccrrsscsiievecnrneeeecs
Square-head screw '/4"
Thieaded: bushing 8/X/35 Ml smminsissmisiiiiiiiiios
S e O e e T R R B
Threaded component of tom tOM MOUNL.......cuuuuuerreeecrcirereeerieneenrnne
Tension spring, for ACOUStIGALE .......cvvvveceecessrrmsrsssssssssssssccsisisiciins
Rubber washer 20 / 5 X 1.5 MM .....ccovnrvivvvnnrunnens
Rubber insulator, large, for lug
Rubber insulator, small, for lug (single 1ug) woooooereceviviiiiviciciiiiiiinns
Rubber insulator for tom tom MOUNLE ......ocovvvvveveeevrriissssesnnererevsrinienns
Knurled ring @ 44 mm
Knurled ring @ 28 MM mmmimmsissssssssissmisismssssssssisisis
Tune-Safe System......
Rubber insulator for tom tom socket
Polystyrene washer 43 / 30.3 x 1 mm
Polystyrene washer, for ACOUStIGALE ......oovvveovciirveccreereccccccrinsnnne
Rubber bellow, for AcoustiGate ..............

Slotted screw for rim '/4" x 46 mm
Kniitled nut M 30°% 1.5%-45 Ml wonmmmamammsmmmmg
Knurled nut M 6 x 28, for AcoustiGate
Polyamide Washer ...

Variable Parts

Connecting rail for tom tom mount, for 10" x 8" tom tom ............
Connecting rail for tom tom mount, for 10" x 9" tom tom .............
Connecting rail for tom tom mount, for 10" x 10" tom tom ...........

Tom tom mount, complete, for 10" X 8" tom tOM ....ccccoovvervrcrrrrrnrnennns
Tom tom mount, complete, for 10" x 9" tom tom .......
Tom tom mount, complete, for 10" x 10" tom tom

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ...
Torx screw for lug, 5 x 20 mm
foi Maple Heavyshells.a o oo

" SoNO“ ® Printed in Germany  Printed on recycled paper

22

SonorMuseum.de

&




Designer Series

Tom Tom 10", mit Einzelspannstiitzen
Tom Tom 10", with Single Lugs

Ty (1]
84109812 - B/ML u
ﬁg‘m_m 84110412 - MH 74531274 - 8" depth of shell
84110412 - MH 758136 00 14531374 - 9" depth of shell

745 314 74 - 10" depth of shell

4528152 74540159 - 8" depth of shell
14540359 - 9" depth of shell
74541559 - 10" depth of shell

801069 54
758 206 00

801002 53

801070 54
758 207 00
758219 00
158 226 00
75700112

845068 10

841098 12 - B/ML
84110412 - MH

758136 00
15820200

U
758209 00 ‘
|

74527500 ‘ S
3 l
s —O %
—- 741 087 54 %
758 203 00

&
74108759

J
N

|

2
=
_»

D e -

\ 1 |
i e
vy Y E
U506810 ’
80100253 g

gL

’ L DrumHead

- 1202973

' SONOR

SonorMuseum.de

o



Designer Series

72100173
741 087 54
741 087 59
141 096 54
141 097 54
745 275 00
145 276 03
745 28110
145 287 52
157 09112
758 136 00
758 202 00
758 203 00
758 204 00
158 206 00
158 207 00
158 209 00
758 213 00
158 216 00
158 219 00
758 226 00
801 069 54
801070 54
845 068 10

145 312 74
145 314 74
145 316 74
745 402 59
145 406 59
745 410 59
801002 53

801 004 53

841098 12

84110412

Tom Tom 12", with Single Lugs

RIML 12" ettt bbb saaes
Lug (Single 1Ug) w.eeeueeeeeeicrrirsseeseeercsevieneens .

Lug (singletlug), completet i
Socket for tom tom mount ...
Clamping ring for tom tom SOCKEL .........uveeeueeeevemmeiiiiiviriviriririenrriresennnen
Square-head SCrEW /4" .....covcisssmssisssssssessssssssssssssssssssssssssssee
Threaded bushing 8 X 35 MMlu.uisismssissnsssssssassasisssssssisssssssssssia
SALELY TOLIBR: s smsstimrmumsssss s o S
Threaded component of tom tom mount.......ccoovvvreeccscssvscsssisissicvann,
Tension spring, for ACOUSHGALE .......ovvveeeuerccrrreeerrrerserrreiereeen
Rubber washer 20 /5 X 1.5 MM cvocccuvvriisnnnnescccsssssssssesseseeseee
Rubber:insulator, large, forlug s
Rubber insulator, small, for lug (single 1ug) ...cccccccoovevvevvccrrvrioriicrions
Rubber insulator for tom tom mount ........cc.......
Knurled ring @ 44 MM oo eeeessessssssssssssseeeenee
Knurled ring @ 28 MM ... seeeceseisesesisssssesess s
TUNE-SAfe SYSTOMY iucisissicesvusvvmmissmneasasivsmissusninsissssssinisisisssssssassissivssssssivisissss
Rubber insulator for tom tom SOCKet ...........coooemervvvveerisnnrrccviiresrereieiens
Polystyrene washer 43 / 30.3 X 1 MM unnnccerrrerrnirisnninissssssssssssins
Polystyrene washer, for ACOUSHGALE .....oovccccccrerrsiivrrrrsiirerressriiis
Rubber bellow, for ACOUSHIGALE ...vververeereeeeeeeceeeee e
Knurled nut M 30 x 1.5 x 45 mm
Knurled nut M 6 X 28, for ACOUStIGALE .........ovveeeeereeeeeressessseeeeeenreenees
POIYAMIAE WASRET ....ovvrrrrreerereesiissesnmssssssssssesseesesssssssssasssssssss

Variable Parts

Connecting rail for tom tom mount, for 12" x 8" tom tom .............
Connecting rail for tom tom mount, for 12" x 10" tom tom ...........
Connecting rail for tom tom mount, for 12" x 12" tom tom ...........

Tom tom mount, complete, for 12" x 8" tom tOM .......ccvvvvververreeene.
Tom tom mount, complete, for 12" X 10" tOmM tOM .....vvvvvevevveveervenieens

Tom tom mount, complete, for 12" X 12" tom tOm .....ccccvevvivevvvveenns

Slotted screw for rim, /4" X 46 mm

for 12" x 8" und 12" X 10" tOM tOMS w..oovereerreeereeree s
Slotted screw for rim, '/4" x 55 mm
for12/"% 12" 1o OMS . cnammnmmmmm s

Torx screw for lug, 5 x 16 mm
forBirch and Maple Light shells ..
Torx screw for lug, 5 x 20 mm
for Maple Heavy ShellS ..ummmurmssressmesmmsssmmprmsssssssssssssrsmapprmmssstsisin

¢’ SONOR'
@ Printed in Germany  Printed on recycled paper

23

¢ SonorMuseum.de




Designer Series

Tom Tom 12", mit Einzelspannstiitzen
Tom Tom 12", with Single Lugs

(1]
841098 12 - B/ML y
4110412 - M 74531274 - 8" depth of shel

T45 31474 - 10" depth of shell
e 745 316 74 - 12" depth of shell

758 204 00 (2]
74540259 - 8" depth of shell
745406 59 - 10" depth of shell
745 410 59 - 12" depth of shell

o —

80100253 - 8" and 10" depth of shell
801004 53 - 12" depth of shell

145 281 52
741097 54
758 216 00

G
80106954
758 206 00

0 am—Y
0 am—H

@ y
(3]
S0 84506810
758 207 00
758 219 00 &
158 226 00 — 72100173
75109112
——  Drum Head

84109812 - B/ML
84110412 - MH

758136 00
— 15820200

C"'@ 758209 00
2 745 276 03
=
745 275 00
T
108754

758 203 00

506810 — \
. © “E L 72100173

" SONOR

SonorMuseum.de

o



Designer Series

72100273
741 087 54
741 087 59
741 096 54
741 097 54
745 215 00
745 216 03
74528110
145 287 52
1757 09112
758 136 00
758 202 00
758 203 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
758 226 Q0
801 069 54
801 070 54
845 068 10

145313 74
745315 74
145 317 74
745 404 59
745 408 59
745 413 59
801 002 53
801004 53

801 059 53

841098 12

84110412

Tom Tom 13", with Single Lugs

RIMASZY s
Lug (single lug)
Lug (single lug), complete
Socket for tom tom mount
Clamping ring for tom tom SOCKEL ........cccccccvvvvrevuvmverermrsssssssnnnsnnsesssissinns
Square-head serew /4" cusssmmnimmasnsnasmsmmmmsamaiiss
Threaded bushing 8 X 35 MMl.....cccovvvvvveeeiiiirissssssssercrreseeesessssssessnes
SALCLY TOLLLT covveveereernsssesssssssssssssssssssssessesssmssssssssssssssssssssssssssssssessssssssssssseees
Threaded component of tom tom MOUNt...........vvvvvvrrrrrcrrrereececrrrnre
Tension spring, for ACOUSHIG AL wuuvimmmissusimmissmmssismsissississssssisisaasis
Rubber washer'20,/°5 % 1.5 MM samsmmmesgmmssiiing
Ruibber insulator; large for lUg i wmumamammmmmmmmmimms
Rubber insulator, small, for lug (single 10g) ..o
Rubber insulator for tom tom MOUNt ......ccooveevevvvecerisennncsrecrreninnnns
Knurled ring 0 44 mm ...... R R -
Krurled Fifig 0 28 Mmoo i S e ibusans
Tune-Safe System
Rubber insulator for tom tom SOCKEL .......ccccrmervrieerrneririenriesrisniinns
Polystyrene washer 43 /7 30.3 X I MM cooooovvvvveeerriisrisessnsennseseesseens
Polystyrene washer, for AcoustiGate
Rubbei bellow; for'ACOuSTIGALE i
Knurled nut M 30 X 1.5 X 45 MM oo
Knurled nut M 6 X 28, for ACOUSHGALE ....ovo..covorernnererressnecerrsnn
Polyamidewashers s

Variable Parts

Connecting rail for tom tom mount, for 13" x 9" tom tom .............
Connecting rail for tom tom mount, for 13" x 11" tom tom ...........
Connecting rail for tom tom mount, for 13" x 13" tom tom ...........

Tom tom mount, complete, for 13" X 9" tom tOM ....cooeeererrrrrrvvvvreennnns
Tom tom mount, complete, for 13" x 11" tom tom
Tom tom mount, complete, for 13" x 13" tom tom

Slotted screw for rim, '/+" x 46 mm
£Or 13" X 9" LOM LOIMS wovrvrrrereeeceeeeeee sttt
Slotted screw for rim, '/4" x 55 mm
0T o il 03 B K 1171113 1] 1 O S
Slotted screw for rim, '/+" x 60 mm
T G O 11) 11 1) )1

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells:.....conmmsmimas:
Torx screw for lug, 5 x 20 mm
for Maple Heavy Shells ..o

‘? S [] N [] R @ Printed 1n Germany  Printed on recvcled paper

SonorMuseum.de

&



Designer Series

Tom Tom 13", mit Einzelspannstiitzen
Tom Tom 13", with Single Lugs

— (1]
841098 12 - B/ML "
Z,if;f,i‘};’_s,m $A110412 - M 531374 - 9" depth of shell
84110412 - M 758136 00 74531574 - 11" depth of shell

Z

4531774 - 13" depth of shell

758 204 00 (2]

74540459 - 9" depth of shell
745408 59- 11" depth of shell
745 413 59 - 13" depth of shell

(3]
80100253- 9" depth of shell
801004 53- 11" depth of shell
801 059 53- 13" depth of shell

74528752
741097 %4

] °
::;g;g;’; ’ 845 068 10
758 219.00
758 226 00 {— o
157091 12

——  Drum Head

841098 12 - B/ML

84110412 - MH

758136 00

758 202 00
r//,,,(‘ / |7

521500 —

758209 00

745216 03

74108759
1

M528110 —

158 203 00

N |
N—1

845 068 10
© *E Mo

——————— Drum Head

¢/

¢' SONOR

SonorMuseum.de

o



Designer Series

721003 73
741 087 54
741 087 59
741 096 54
741 097 54
745 215 00
745 276 03
745 28110
745 287 52
757 091 12
758 136 00
758 202 00
758 203 00
758 204 00
758 206 00
758 207 00
758 209 00
758 213 00
758 216 00
758 219 00
758 226 00
801 069’54
801 070 54
845 068 10

745 314 74
745 316 74
745 318 74

745 407 59
745 41159
745 415 59
801002 53

801 004 53

841098 12

841104 12

Tom Tom 14", with Single Lugs

R wrcsssissan s oo T S R S R o
LG (STBIE UE) s e R e s
Lug (single 1ug), COMPIELE..........vvveveeeerrrererreeeceeeceececescesesessesscsesssssinninnns
Socket for tom tOM MOUNL .ooooooeeeeececessrsiiiissiisssssssresensnesseseessesee s
Clamping ring for tom tom socket...........
Square-head screw /4" ..

Threaded bushing 8 X 35 MM ....cccccovvnvicnncrcnnc.
Safety roller ... .
Threaded component of tom tom mount............cccccceeverrenueee
Tension spring, for AcoustiGate
Rubber'washer20/ 5% L5 MM s nmunmmmmasgag
Rubber insulator, large, for lug .......ccooevevvvivccnnes
Rubber insulator, small, for lug (single lug)
Rubber insulator for tom tom MOUNE ....cerevcererrerereeveeeensesissssscenens
Knuitled ring 0 4% MM
Krtrled g0 28 MM m RS
Tune-Safe System
Rubber insulator for tom tom SOCKeL .........ccovvermmmrrvrieererresecseereerinnns
Polystyrene washer 43/ 30.3 X 1 MM .cooocovvvrnvricvcrcccccinrssssicnnesns
Polystyrene washer, for AcoustiGate
Rubbér bellow, for ACOUSIGALE .uusnusinmissismsmsisisisssssassivsssiviiiiss
Knurled nit M 30 X115 X845 MM nsnmmmpamssimmi
Knurled nut M 6 x 28, for AcoustiGate
POIVAMTAE WASHET: o mmmmsossssmmssessassissassrisisissssossmssisassssssssasiassssssassis

Variable Parts

Connecting rail for tom tom mount, for 14" x 10" tom tom ...........
Connecting rail for tom tom mount, for 14" x 12" tom tom ...........
Connecting rail for tom tom mount, for 14" x 14" tom tom ...........

Tom tom mount, complete, for 14" x 10" tom tom
Tom tom mount, complete, for 14" x 12" tom tom
Tom tom mount, complete, for 14" x 14" tom tom

Slotted screw for rim, /4" x 46 mm

Slotted screw for rim, '/4" X 55 mm
for 14" X 12" L0M LM oo sssssesees

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light Shells ...
Torx screw for lug, 5 x 20 mm
fot Maple Heawy shells. s mmamsampmmsssasmmm

@ Printed in Germany  Printed on recyeled paper

25

SonorMuseum.de

&



Designer Series

. Tom Tom 14", mit Einzelspannstiitzen
Tom Tom 14", with Single Lugs

TR (1)
Zf (1)‘:3 22 “B/ML ﬁi ?348 1122 5 %:M 74531474 - 10" depth of shell
84110412 - MH 758136 00 145316 74 - 12" depth of shell
745318 74 - 14" depth of shell

(2]

45 28152

741097 54 74540759 - 10" depth of shell

74541159 - 12" depth of shell

75821600 74541559 - 14" depth of shell
(3] 2 3
80100253 - 10" and 14" depth of shell Ak x E6
O - 801004 53 - 12" depth of shell £§

0
801069 54

0 amm—H
0 am—H

758 206 00
(1]
(3]
801070 54 5 06810
758 207 00
758 219 00
758 226 00 {— 12100373
75709112
——  Drum Head
84109812 - B/ML
84110412 - MH
758136 00
r 758 202 00
o
758 209 00
2 745276 03
®
3
745275 00
74528110
741087 54
758 203 00

L 7200373

. L DrumMead

¢' SONOR

SonorMuseum.de

o



Designer Series

721030 73
741 087 54
741 087 59
741 096 54
741 097 54
745 215 00
745 216 03
745 28110
145 287 52
157 09112
158 136 00
758 202 00
758 203 00
758 204 00
758 206 00
158 207 00
758 209 00
758 213 00
758 216 00
758 219 00
158 226 00
801 069 54
801 070 54
845 068 10

74531574
145317 74
745318 74
745 409 59
745 414 59
745 41759
801 004 53

801 059 53

841098 12

841104 12

Tom Tom 15", with Single Lugs

Rim 15" .
T R B s e T e comemsssasssorsiii R mmonessmen A
Lug (single lug), complete........ et Basspopse g esass

Socket for tom tom mount ...... .
Clamping ring for tomtom:SoeKet sua s ummsimusssnmpsasii:
Square-head screw '/4"
Threaded bushing 8 X 35 MM.....ccoeererrrrerrrnnn

S At OO o st ttnmsamessssmmsstiamssssaisssssssssmssssssssssssssompssssssssrimnssssise
Threaded component of tom tom mount.. -
Tension spring, for ACOUSHIGALE .......cvvvvevvvvrvveeveesirisssssesesvcssseens
Rubber washer 20 / 5 x 1.5 mm R
Rubber insulator, large, for [Ug ...
Rubber insulator, small, for lug (single 1Ug) ...
Rubber insulator for tom tom mount ....ccccoeeevvvevvveveevnriirnnrneresrnnnns
KeiiniEled fing O 4 DD ccrcississusmsnssssssissassssssssssssssssbosssssssssssssssssisssassv
Knurled ring @ 28 mm ... e e T s
TUNE-SAFE SYSEEM cvvvvovveevevecvveeseersisisessse s eeeeessssssnes
Rubber insulator for tom tom SOCKEL ......ccovivevrveeireeriirnnriseensiis
Polystyrene washer 43 /30.3 X 1 mm......cccococcees

Polystyrene washer, for ACOUSHIGALE ....ovvvvcsviiivvrrirrsrsssssissisnnsssnes
Rubber bellow, fOr ACOUSEIGALE ....oummisssssssisssmssiansisisssiinsssisssassassanssses
Knurled nut M 30 X 1.5 X 45 MM coooverrrrnnncncrcrnssssssmsssesssnsssssesne
Knurled nut M 6 X 28, for ACOUSHIGALE ...ococccvvvvrrcvvrvrreesssesrrresinnnnn
Polyaimide washer sy

Variable Parts

Connecting rail for tom tom mount, for 15" x 11" tom tom ...........
Connecting rail for tom tom mount, for 15" x 13" tom tom ...........
Connecting rail for tom tom mount, for 15" x 15" tom tom ..........

Tom tom mount, complete, for 15" x 11" tom tOmM ...cccooevrrrrrrrrvervenenns
Tom tom mount, complete, for 15" X 13" tom tom ......ccccccommmmrnrrccc
Tom tom mount, complete, for 15" X 15" tom tom ....cc.ccccccvnnervvvvvenens

Slotted screw for rim, '/4" X 55 mm
for 15" x 11" und 15" X 15" tOM LOMS w.eovvvrrerivreeercerenseeseeeisnenens
Slotted screw for rim, /4" x 60 mm
fOr 15" X 13" LOM LOMS wovvvvvvvrrrmmmensnieesseeeeesssesssssssssssss s ssssssssssnssennns

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ...
Torx screw for lug, 5 x 20 mm
for Maple Heau shells o

@ Printed 1n Germany - Printed on recycled paper

26

& SonorMuseum.de



Designer Series

Tom Tom 15", mit Einzelspannstiitzen
Tom Tom 15", with Single Lugs

84109812 - B/ML ﬁi fg“? 1122 £ P';l[irl 74531574 - 11" depth of shell
84110412 - MH 758 136 00 745 31774 - 13" depth of shell

745318 74 - 15" depth of shell
(2]

4528152 745409 59 - 11" depth of shell
741097 54 745414 59 - 13" depth of shell
758 216 00

74541759 - 15" depth of shell

(3)
801004 53- 11" and 15" depth of shell
801 059 53 - 13" depth of shell

J
801069 54

758 206 00

[ 1]

©

801070 54 845 06810
758 20700
758219 00
758 226 00 f— 71203013
75109112

——  Drum Head

84109812 - B/ML

84110412 - MH
758136 00
If 158 202 00

758209 00
45276 03

74108759
|

74108754

75820300 -

SonorMuseum.de

o

==

L mm03m

—— Drum Head

¢! SONOR



Designer Series

721006 73
741 087 54
741 087 59
741 096 54
741 097 54
745 275 00
745 276 03
745 281 10
745 287 52
757 091 12
758 136 00
758 202 00
758 203 00
758 204 00
758 206 00
758 207 00

‘ 758 209 00
758 213 00
758 216 00
758 219 00
758 226 00
801 069 54
801 070 54
845 068 10

745 316 74
745318 74
745 320 74

745 412 59
745 416 59

. 745 418 59

801 002 53

801 004 53

841098 12

841104 12

o

Tom Tom 16", with Single Lugs

Rifii, 16" assenammmmammennyasnis
Lug (single lug) .... ol ;
Lug (single 1ug), COMPIELe.......cccccommmmmrmveeeriveerrnrrnnrrneeesesssenness s

Socket for tom tom mount ..
Clamping ring for tom tom socket
Square-head screw '/4" ....... .
Threaded bushing 8 X 35 MM ...crrirrrrrrerreeeermmmmmssssseeseresssssssssssssens
Safety roller.....
Threaded component of tom tOmM MOUNt .........vvrrrrrerermrrrrrrrireeeeeeirnns
Tensioitspring; for-AcoustiGate s
Ritbber washeri20./5 %15 Mo
Rubber:insulator; large; for 108 ommmumanmasmmspmnss
Rubber insulator, small, for lug (single 1ug) ..........ooooocccccireere.
Rubber insulator for tom tom mount
RAUrled TINg 0 48 Mty
Kritieled Fing 028 DA esesmmmmesssssimassmsss i
Tune-Safe System .
Rubber insulator for tom tom SOCKEE .cicovvvevveeeeccccessssssee
Polystyrene washer 43 / 30.3 X 1 MM .cooovvcivvvrmrssiceernsssnsnressssisnnns
Polystyrene washer, for AcoustiGate
Rubber bellow, for ACOUStIGALE ...
Knurled auEM 300X 1.5°X 45 T .ommmmnmsmmennnssmmsmmas
Knurled nut M 6 x 28, for AcoustiGate
Polyamide Washer . s

Variable Parts

Connecting rail for tom tom mount, for 16" x 12" tom tom ...........
Connecting rail for tom tom mount, for 16" x 14" tom tom ..........
Connecting rail for tom tom mount, for 16" x 16" tom tom ...........

Tom tom mount, complete, for 16" x 12" tOM tOM ..cooecvvcccscrrrrernnns
Tom tom mount, complete, for 16" x 14" tom tOM .ccccocevvvvcvcvcccineees
Tom tom mount, complete, for 16" x 16" tom tOM ..oovvevvvevvvrerieeren

Slotted screw for rim, /4" x 46 mm
for 16" x 14" und 16" X 16" tOM LOMS w.ovvevvrerrverernreieeerrerssessesseensienes
Slotted screw for rim, '/4" X 55 mm
FEPAGSE 127 COTY DOTIUS coss-nsosesnevsaostovsonssosees essvssss s amivons s vvasssssvss

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells
Torx screw for lug, 5 x 20 mm
for Maple Heavy shellsi s

¢ SONOR < ————

recvcled paper

‘

21

SonorMuseum.de

&



Designer Series

Tom Tom 16", mit Einzelspannstiitzen
Tom Tom 16", with Single Lugs

58136 00

84109812 - B/ML
84110412 - MH

)
801069 54
758 206 00

80107054
758 207 00
158 219 00
758 226 00
75109112

841098 12 - B/ML
84110412 - MH

758136 00
758 202 00

@— 758209 00

74108759
1

745 275 00 —"
0

w1 — %

758 203 00

841098 12 - B/ML
84110412 - MH

758136 00

0 a—(p
0 @D

3]

I/l 506810

‘.—— 72100673
\ @ @ / ——  Drum Head
\’ |

o)
g M=

/
(
(

.—/

8506810 — 1
© "E L 72100673

— Drum Head

(1)
745316 74 - 12" depth of shell
745 318 74 - 14" depth of shell
745 320 74 - 16" depth of shell

(2]
74541259 - 12" depth of shell
745416 59 - 14" depth of shell
745 418 59 - 16" depth of shell

©
80100253 - 14" and 16" depth of shell
801004 53 - 12" depth of shell

SonorMuseum.de

o

¢' SONOR



Designer Series

Floor Tom 14", with Long Lugs

72100573 Rim 14" ....... T e O
741 095 54 Prismrlug, topspartmesmemii an Pl o M
741 098 54 Prismit lug; Dottomipart. s s
741 098 59 Prism lug, complete

745 078 54 Memory clamp for floor tom 18g ...
745213 00 Threaded component of prism IUg ......ccoooooeveeeereriiisiivorssvsvccciirinsininnnns
745 214 13 Floortor leg 12:% 400 MM
745 215 00 Squate-head Screw !a s
745 276 03 Threaded bushing, 8 x 35 mm e L
74528110 Safety roller ...

757 068 10 Tension SPring ..................

758 136 00 Rubber washer 20 / 5 x 1.5 mm

758 195 00 Knurled ring @ 52 mm
758 198 00 Polystyrol-washer for knurled nut
758199 00 Rubber insulator for prism lug
758 200 00 Rubber foot....
' 1758 202 00 Rubber insulator, large for lug

758 209 00 Turie-Safe SYStem cummsssmsmsssssn:
801 002 53 Slotted screw for rim /4" X 46 MM ....oooovooevieevrrerenssssssisserereessssssnnns
801 067 54 Knurled nut M 30 X 1.5 X 54 MM ccoovorernrvvecseeeeciesesisnsseseesenns
802 063 54 Slotted screw M 6 x 9 mm %
845 068 10 Polyammide Washet oo 3
847123 10 MEtal BAll'T M s s E
=
QD
w2
=
Variable Parts =
St
o Q
741110 54 Lig; for14"x 14" floot NS g e
141110 59 Lug, complete for 14" x 14" floOr tOMS ...ooovoccccvverssiecrrcccciireeecnn Q
w2
741111 54 T, ford8™s 167 Hour (oms wasumenmamonessomommmessoss r
74111159 Lug, complete for 14" x 16" floor toms ............ccccccs E I m
841098 12 Torx screw for lug, 5 x 16 mm
' for Birch and Maple Light Shells ...,
841104 12 Torx screw for [ug, 5 x 20 mm
for Maple Heavy:shells sy

b/ﬂ U p (0,
09 = Sttictor bo (2 & i

/A Tote. Seiue
:

‘? SONOR @ Printed in Germany - Printed on recycled paper 28




Designer Series

Floor Tom 14", mit Doppelspannstiitzen
Floor Tom 14", with Long Lugs

841098 12 - B/ML °

110412 - M/H 741110 54 - 14" depth of shell
758136 00 T41111 54 - 16" depth of shell
758199 00

(2]

74521300 741110 59 - 14" depth of shell
741098 54 74111159 - 16" depth of shell
75106810
741095 54

758198 00'
758195 00

80100253 801067 54

4507854
84506810

741098 59

|
£
14

|
~ \
‘ +— 521473 )
——  Drum Head S » /

f——1
ALY Yo

745 275 00 ~\(ﬂ
msan ) | | )
1 o ;
@, .
o |
(o) 7.
)

84506810 ——
80100253 *——E

————— Drum Head

¢! SONOR

SonorMuseum.de

o



Designer Series

Floor Tom 16", with Long Lugs

721006 73 RIM 10" oo
741 095 54 Jode 06 LD B o7 0 1 1 R TR ST P U —
741 098 54 Prisim g, Botomipart s et i
741 098 59 Prism lug, complete T 3
745 078 54 Memory clamp for floor t0m 1€g ...
745 213 00 Threaded component of Prism IUg ..........cccrermmmenssneecenrrreereriisnnnens
745274 73 Floor tom leg 12:%:400 MMl
745 275 00 Square-hedd $crew a" cossmmmmmnas s R
1745 2176 03 Threaded bushing, 8 X 35 MM ...coooerrrvvveieiereeeeeceese e seeeienes
745 28110 Safety roller
157 068 10 TENSION SPIING wovvvvrerrrrrumvevnsresessssmmsssseesssssssssssssssssessssssssssssse s sssnes
758 136 00 Riibber:washer20./ 5% LS MM s
758 195 00 Knurled ring 0 52 mm
758 198 00 Polystyrol-washer for knurled nut ...
758 199 00 Rubber insulator for prism IUg ...
158 200 00 Rubber foot
758 202 00 Riibber insulatos, darge for lugimsmmmmmmanenannnasomms
758 209 00 TUNE-SAE SYSEEI i s
‘801 067 54 Knurled nut M 30 x 1.5 x 54 mm
802 063 54 Slotted SCrew M 6 X 9 MM ....oooocooorersereeesncnnessssees s essnansise
845068 10 I’olyanm:lsher .........................................................................................
84712310 Metal ball M mmsss——————-—————w— "5, '
Variable Parts

jh, /7,505/50 7 A4

741111 54 Liig; for 16" % 16™ Ho0r omS cumummsmmiinimimssisasmib it

741111 59 Lug, complete for 16" x 16" floor toms

741112 54 Lug, for 16" x 18" floor toms

741112 59 Lug, complete for 16" x 18" floor toms ............ AT
r\ /7

801 002 53 Slotted screw for rim '/+" x 46 mm Jl‘ébé/l 12neal

fOr 16" X 16" FLOOT LOMS ..ooooooeeeeeeeeeeeeeeeeeeeeeeeeee s
801 004 53 Slotted screw for rim '/4" x 55 mm W

for-16"™ % 18" FLOOT SOMS civusimmsmsssmississssmmsssmssammsssssissssivssssssisssnsasssins
841098 12 Torx screw for lug, 5 x 16 mm

for Birch and Maple Light shells ...,
841104 12 Torx screw for lug, 5 x 20 mm

for Maple Heavy ShellS ..o

Vi
g(/) L (/( /’( ‘7(_6( j(_’(f()r g4

¢ SONOR

@ Printed in Germany  Printed on recycled paper

29

¢ SonorMuseum.de



Designer Series

Floor Tom 16", mit Doppelspannstiitzen
Floor Tom 16", with Long Lugs

841098 12 - B/ML o
84110412 - MH 741111 54 - 16" depth of shell
758136 00 741112 54 - 18" depth of shell
r 758199 00
(2]
745 273 00 74111159 - 16" depth of shell

741098 4 741112 59 -18" depth of shell
75706810 o

741095 %4 801002 53 - 16" depth of shell
75819800 801 004 53 - 18" depth of shell

T
741098 59

PR

{—— 12100673 1 wsmn

@

441098 12- B/ML

84110412 - MH

758136 00

75820200

7820900

\,@ 745 276 03
45 275 00 @

w110

——  Drum Head

758 200 00

\

Oy

¢! SONOR

SonorMuseum.de

o



Designer Series

72100773
741 095 54
741 098 54
741 098 59
745 078 54
745 273 00
745 214 13
745 275 00
745 216 03
745 28110
757 068 10
758 136 00
758 195 00
758 198 00
758 199 00
758 200 00
158 202 00
758 209 00
801 067 54
802 063 54
845 068 10
84712310

741 111 54
741 11159

741112 54
741112 59

801002 53

801004 53

841 098 12

841104 12

Floor Tom 18", with Long Lugs

Rim 18"
Prismilugytopiparteeletm B sUBOML . A B s
Prism lug, bottom part..
Prism lug, complete ...
Memory clamp for floor tom 18g......cccccvvvvvvvvvvvvverrerreeereerneereees s
Threaded component of prism IUg ..ccoowecocooocccricciveriveecnnn,

Eloor tom: 1eg 12i%400 MM
Square-head screw /4" ;
Threaded bushing, 8 x 35 mm
Safety roller-..... )
TENSION SPIING wvvvrriverrrireniiscsisis s ssssssss s sssseenes
Rubber washer 20 /5 x 1.5 mm
Knurled ring @ 52 mm ...oooccvnveeccvvvvcnnnnnne S—————————
Polystyrol-washer for knurled nUE ...
Rubber insulator for prism lug
RubBbenfe0t . mmmmnmsamssmmmmmmmmmmssm e
Riibber insulator; large for lug s
Tune-Safe System
Knitled niit M 30 % 1555 54 MM s
Slotted SCrew M 6 X 9 MM c......ooooerrieeseeneeseeeesesessssessssssssssssssssssensesesssenes
Polyamide washer
Metal ball 7 mm

Variable Parts

Lug, for 18" X 16" flo0r tomMS w..ecvvvrvvescsrsccninn
Lug, complete for 18" x 16" floor toms

Lug, for 18" x 18" floor tOmS ...
Lug, complete for 18" x 18" floor toms

Slotted screw for rim /4" x 46 mm
fOr 16" X 16" FlOOT LOMS covvvveeeeeeecreee e eseeeeeon
Slotted screw for rim '/4" x 55 mm
fi 16" 2180 HloomioMSknonummmmsmmmm R

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ...,
Torx screw for lug, 5 x 20 mm
for Maple Heavy Shells ...

‘? SONOR @ Printed in Germany Printed on recveled paper

30

SonorMuseum.de

&




Designer Series

Floor Tom 18", mit Doppelspannstiitzen
Floor Tom 18", with Long Lugs

84109812 - B/ML
84110412 - MH
758136 00
758199 00

/Y
2| 7 /‘? I~ ‘
N N ;
~°
c é.?

80206354 —— (O
§‘ 7
(3]
745 078 54

80106754
845068 10

74521300

741098 54
757068 10

74109554
758198 00
75819500

.
f— 2001 M usmun

Y

2

——  Drum Head

758200 00

\

T
741098 59

N 841098 12- B/ML
84110412 - MH

(J} @— 758209 00
Y@(ﬁ 45276 03
4527500 \(ﬂ?

528110 —9)
1+ @

%{/ /

1

- DrumHead

— 1200773 @\J 'r B i

(1)
74111154 - 16" depth of shell
741112 54 - 18" depth of shell

(2]
18111159 - 16" depth of shell
781112 59 - 18" depth of shell

©
801002 53 - 16" depth of shell
801004 53 - 18" depth of shell

¢? SONOR

SonorMuseum.de

o



Designer Series

72100573
741 087 54
741 087 59
141 095 54
741 098 54
741 098 59
745 078 54
745 213 00
745274 73
745 215 00
745 216 03
745 28110
757 068 10
158 136 00
758 195 00
158 198 00
158 199 00
758 200 00
758 202 00
758 203 00
758 209 00
801002 53
801 067 54
802 063 54
845 068 10
84712310

841098 12

841104 12

Floor Tom 14", with Single Lugs

Rim 14" ... - SRR SIS NOSP—
Ly (STAEIELINE vusccssssosisnssvmsassussssmumamimmsmsssssass nssissssmussta a5
Lug (single lug), complete
Prism lug, top part
Prism lug, bottom part
Prismilug; complete s
Memory clamp for floor tom 1eg .....ooumeeueumimrrrisinmrmnnsneesssssssssssssssssns
Threaded component of Prism lUg .........cccevveereereresrssssrssssris a
Floor tom leg 12 X 400 MM .....ivevvveeeeeeeeereeecseee e
Square-head screw '/4" . Gienfeninesbissessiss e A
Threaded bushing, 8 x 35 mm ...
Safety roller............
Tension spring....
Rubber washer 20 /5 x 1.5 mm
Knurled ring @ 52 MM oo ssessssssssssssssassses
Polystyrol-washer for knurled nut ...
Rubber insulator for prism UG ..o
RUBD DO e s L R
Rubber insulator, large, for lug
Rubber insulator, small, for lug (single 1ugs) ..........ccoccvvrmvrvesrerrennc.
TUNe=Safe SYSTRINL s ccscssrevssvmussosississenesninassmsntessissssssssseinesssssasmmramsstamastissas
Slotted serew fortim /4" % 46 MM .
Knurled nut M 30 X 1.5 X 54 MM cccoovvrrrrrrsimsmmssssisisssessssssssssssseses
Slotted Screw M 6 X 9 MM cooooooccccvvereeeeeeescesnne s
Polyamide washer
Métal ball 7 M s s am

Variable Parts

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells
Torx screw for lug, 5 x 20 mm
for Maple Heavy Shells .........crvrrrrcriccrnnscessssssinsnresesessesennnn,

‘? SoNOR @ Printed in Germany  Printed on recveled paper

¢ SonorMuseum.de



Designer Series

Floor Tom 14", mit Einzelspannstiitzen
Floor Tom 14", with Single Lugs

12100573

Drum Head

80100253

841098 12 - B/ML
84110412 - MH

758136 00
758199 00

84506810

758 200 00

758 203 00

745 275 00 —é >

w5110 —O T

41095 54
158198 00
758195 00

801067 54

. g7¢

521473

158209 00

745 276 03

141087 54

45078 54 3

841098 12 - B/ML
84110412 - MH

T

741098 59

T

4108759

+' SONOR

SonorMuseum.de

o



Designer Series

121006 73
741 087 54
741 087 59
741 095 54
741 098 54
741 098 59
745 078 54
745 273 00
745214 73
745 215 00
745 216 03
745 28110
757 068 10
758 136 00
758 195 00
758 198 00
758 199 00
758 200 00
758 202 00
758 203 00
758 209 00
801 067 54
802 063 54
845 068 10
84712310

801 002 53

801004 53

841 098 12

841104 12

Floor Tom 16", with Single Lugs

Lug(SHglelug)inmissmmsmmmmmssssists i
Lug (single lug), complete T TS
Prism lug, top part
Prism 1ug, DOLOM PATL...c.euvvvevieeererivrernvnnrenneseeneseesesssssesssssssssssssssssssnsenns
Prism lug; complete ..

Memory clamp for floor tom leg......
Threaded component of Prism IUg ..........cccccveeemsesesmmmssssssssssssesssisiiiins
Floor tom leg 12 X 400 mm.........o.occrcereneen
Square-head Screw /4" ....oooooovovivccssinniininnnn
Threaded bushing, 8 x 35 mm
1115 28 (511 () (RSP ST
TenS i ONSDTING o R
Rubber washer 20 / 5 X 1.5 MM ccooovcvrriirieiriiiiimiisississssessesssssssssssssssesnnen
Knurled ring @ 52 MM ..o ssssessesesssessssssennenns
Polystyrol-washer for knurled nut ...,
Rubber insulator for prism IUg ..o
RUDBDER F00:nmmmmasis i s s rin
Rubber insulator, large, for [Ug ....cooovoverssccnnennnrrrrcevceiiinnns .
Rubber insulator, small, for lug (single ug) ........ccoommrrrvvvcrrenerrrinnnns
TUNE-SAFE SYSLEIM oot seseeeens
GRS T D M7 5111 Cm—————————————
Slotted serew M 0% Y MM e
Polyamide WaSHer ... ssinnsssssssens
Metal Ball 7 MM oo sssssssssssssesasss

Variable Parts

Slotted screw for rim '/4" x 46 mm
FOr 16" X 16" FlOOT LOIMIS wovvvveeereereeiesee e reesssessseesessssssssssssessenssesssssssesnes
Slotted screw for rim /4" x 55 mm
foi 16" % 18" 60T tOMS s s s

Torx screw for lug, 5 x 16 mm
for Birch and Maple Light shells ........cccocccoumummnvnvccrvrrveermmmummennssnesssnens
Torx screw for lug, 5 x 20 mm
forMaple Heavy SHellS . o i s ST S

‘? SONOR @ Printed in Germany  Printed on recveled paper 32

SonorMuseum.de

&



Designer Series

Floor Tom 16", mit Einzelspannstiitzen
Floor Tom 16", with Single Lugs

841098 12 - B/ML

84110412 - MH
758136 00
758199 00

>
-

74521300

741098 54
75106810

741095 54
758198 00
758195 00

80106754
745018 54

. ¢

Mm521473

75820000 —

84109812 - B/ML
84110412 - MH
758136 00
758202 00

74109859

74108759

(1]
801002 53 - 16" depth of shell

801 004 53 - 18" depth of shell

¢? SONOR'

SonorMuseum.de

o



Designer Series

72100773
741 087 54
741 087 59
741 095 54
741 098 54
741 098 59
745 078 54
745 213 00
745214 73
745 275 00
745 216 03
745 28110
757 068 10
758 136 00
758 195 00
758 198 00
758 199 00
758 200 00
158 202 00
758 203 00
758 209 00
801 067 54
802 063 54
845 068 10
84712310

801 002 53

801 004 53

841098 12

84110412

Floor Tom 18", with Single Lugs

11 s
Lidg (sitigle JUB)waanesmmmmmmmmmmsms i
Lug (single lug), complete... erp ol e Bl o

PriSIM LUZ, LOP PATL crrrvrrrvvviviiiiievervenenessennessseseesessssssessssssssssssssssssssssssnnes
Prism [Uug, DOtLOM PATL ... ssssssesssssssssssnns
Pristii lug, COmMPLEte cusmmsmmmmsssssssssmmmsismiss
Memory clamp for floor tom leg.......
Threaded component of prism lug
Floor tom leg 12 X 400 MM ...ovvvoenrrriieerrieeeereeennenna,
Square-head screw '/4" ...
Threaded bushing; 8:% 35 MM
Safety Tollelmmmnnmmumnnmmms e s
Tension spring
Rubber washer 20 /5 X 1.5 MMl wccocvriiisnrececeesesnssssssseses
Kntirledering 002 MM mmsasmmassmimensmmmmsssami
Polystyrol-washer for knurled nut ....
Rubber insulator for prism lug
RUDDET FOOL coeieiiiiiicit st
Rubber insulator, large, for lug
Rubber insulator, small, for lug (single Iug) ...
T TE S A0S VIS VBTN svvussuassvvevsvsssessisvavassassmvepessonsssssss s savavesssss S osds ARG
Knurled nut M 30 x 1.5 x 54 mm
Slotted SCrew M 0 X 9 MMl coooooovoeeveeerersieceeneseees e
Polyamide WaSHEr ...
Metal DAL T MM s

Variable Parts

Slotted screw for rim '/+" x 46 mm
FOr 16" X 16" FlOOT LOMS wovevereeeeeeeeeeeee s
Slotted screw for rim '/+" x 55 mm
for 16" X 18" flOOT LOMS wovvvevveereeeee e

Torx screw for lug, 5 x 16 mm
for‘Birch 4nid Maple Light shells .coummminmnpamis
Torx screw for lug, 5 x 20 mm
for Maple Heavy SHells ...

‘? SONOR ® Printed i Germany - Printed on recyveled paper

¢ SonorMuseum.de



Designer Series

Floor Tom 18", mit Einzelspannstiitzen
Floor Tom 18", with Single Lugs

O mom

= Drum Head

841098 12 - B/ML
84110412 - MH
758136 00
758199 00

758 200 00 @_

-
Yo

2500 —f]
us8110 —3°

~J
S

45213 00

741098 54
757106810

741095 54
758198 00
758195 00

521473

84109812 - B/ML
84110412 - MH
758136 00
75820200

@— 758209 00

—— 1452716 03

741087 54

74109859

T

74108759

(1]
801002 53 - 16" depth of shell
801004 53 - 18" depth of shell

¢' SONOR

SonorMuseum.de

o



5000 Hardware

GBS 52 Cymbal Boom Stand
135 004 01 CBS/52/Cymbal boOmMStANG voisiviiicm et
750 029 04 Clamping roll
750 098 00 Bushing 10705 0% 20 MMl.csismssssssisssssssimmissinmssessissssssssissssssessiissision
750 106 54 Memory clamp for middle tube......... R
751114 59 Middle fiibe ComPIEte mmmmiitinmmmne i b s i o ansesesiis
751 140 53 Boom arm complete With tilter ........ccoovmvccesccvcsriicriiins
152178 73 0100 (o (1) ) [T RO
752 181173 Le0 A P T U s ssmmisisisonseossvasssiosotsomaasssvs s sisesss o soss ST EARR nes
154 112 03 Memory clamp for top tube
754 118 54 Top tilter with/threaded bolt sy
754 119 54 BOOM LHILOT covvvvveeeeeeree s sssssss e

754 13153 Clamping lever
754 133 00 Clamping spring

154 134 53 Bottom rosette I......
154 135 53 Bottom rosette I1

. 754 136 53 Top rosette I ...... .
154 137 53 TOP POSCHECELT i cusissusssusiessssnsssussseonsisassnivsssssssssisssusasssssssmasnsssonsbosssavssessisssess
156 065 00 Guide ring 20,7 16:% 8 MM s
757 069 12 TensiofnSPring 10:5:x L1 25 MM ummmmanmas i
758 107 00 BUSHING [Or (0D TOSEIE vt i s e
758 168 00 Felt washer 40 / 10 x 10 mm ....
758 206 00 Knurled ring @ 44 mm ...
758 207 00 Kitifled ting: B 281 s s
158 221 00 Clamp bushing
158 222 00 ClAMP DUSRING oo sessssesssssssssssseeeesssssssnnens
758 223 00 RUDDEE FOOL covvvveeeeeesesseee e
758 225 00 Bushing for bottom rosette........
758 227 00 Knurled ring @ 39 mm .....ooooovvecccvvcrre
801 068 54 Knurled nut M 8 X 45 mm ...ccoevvveervnenvcs
801084 53 Knurled nut M 8 X 40........ccoooc....
802 002 53 Slotted screw M 6 X 25 MM ..oovvvevcccccceen
802 003 53 Slotted screw M 6 X 20 MM ccoeerrrrrreer
802 09559 Knurled screw M 6 x 14 mm
802 096 53 RINESEEEW M 8 XAV s

. 840 11312 BOIE 3 X 0 MM oo sesecsssssssssss s ssssssssssssssnnen
842 090 53 Flat round screw M 8 x 40 mm
843 025 54 Knurled nut M 6 ..o,
845 009 12 WAShEE10:5:% 22 30 LTINS csssonnirmasuvsnsssssessvinssissssiassssssansvansisssstinstivsasssossins
845 065 12 Washer 11x 64 % 1.5 Millcesmmemsmenisssamasmmamaa
845 066 10 D T B R s oS
847126 10 Notched Pin 5 X 27 MM coccceiriivieeceeeeeeseeereesssssessessssseseesessseesees
84712710 Half round rivet 4 X 26 MM ooovvcoeeeeeeeeeeee e eeeee s
847128 10 Notched pin 4ix 18 MM

¢ SONOR'
® Printed tn Germany  Printed on recycled paper 34

SonorMuseum.de

)



5000 Hardware

CBS 52 Cymbal Boom Stander
CBS 52 Cymbal Boom Stand

84209053 s E84302554

84500912

5111459  —

758 22100

84011312
754133 00
750 029 04 @

T
5413153 —V -

e

g

756 065 00 L 758168 00
$ ? 758168 00, 80209653
» 750 098 00

845066 10

758 206 00
801068 54

754112 03
845 06512
80200353

84712610

e 5010654

845 065 12
80200253

847126 10

7154136 53
— 8009559 X
758 20700

34712810
15218173

152178 73

o' SONOR

SonorMuseum.de

o



5000 Hardware

CAW 56 Counterweight for Cymbal Boom Arm

135009 01 CAW 56 Counterweight for cymbal boom arm..............ceveeerireeercres

754 138 00 Counterweight DeSigner SEries .............ooreecrmeeereeeressssrsersssessesnee
758 195 00 Knurled ring @ 52 MM ...coocccvccvvvvevveeereeeeeeeeeeeeeeeeee

158 228 00 TPU bushing for fixing in boom arm
842 059 13 Hexagon socket M 8 x 60 mm.................
843 068 12 Self-10CKing NUL M 8 .ooovvveroieerernnesisseesseseessssssesssssssssssssnssssssnnnn,

SonorMuseum.de

%

@ Printed in Germany  Printed on recycled paper 35

o ———



5000 Hardware

. CAW 56 Gegengewicht fiir Cymbal Boom Arm
CAW 56 Counterweight for Cymbal Boom Arm

75819500

843068 12

. \.@((@) 156 228 00
@
"%',,ﬁ G $1205913
@
L

¢’ SONOR

SonorMuseum.de

of



5000 Hardware

135 003 01

750 029 04
750 098 00
750 106 54
751114 50
751134 54
152178 13
75218113
154 112 03
154 118 54
154 131 53
754133 00
754 134 53
754 135 53
154 136 53
754 137 53
756 065 00
157 069 12
758 107 00
758 168 00
758 207 00
758 221 00
758 222 00
758 223 00
758 225 00
758 227 00
801 084 53
802 002 53
802 003 53
802 095 59
840 113 12
842 090 53
843 025 54
845009 12
845 065 12
845 066 10
847126 10
84712710
847128 10

¢S 50 Cymbal Stand

CS:50'Cymbalistand st

Clamping roll S -
Bushing 10 /5.6 x 25 mm..
Memory clamp for middle tube
Middle tube, complete ..... T
Top tube... srpsarts s s essaasssessensmmpagasesn s seAAAAS A2 e s sans s
Shore for leg.
L6 A N I cociviuisusmissasmassssiissosssosssisussinssssisussiasensssnsonsssissssisssisisassseniss
Memory clamp for top tube...... P
Toptilterwith threaded bolt . mspmumssmmmasmmmmmg
ClAMPING IeVeT e SR e
ClAMPING SPIING wovvvvvrverrereerrerssssssssismsmssssssssssssssssssssssesssessesesessesesessssssesss
BottomsroSettesl. s a
Bottomiresette-ll v mmmmnmmmmnnmammensmmses
1 L
Top rosette IT........ccccooeeerrrvvrvnne

Guide ring 20 / 16 x 8 mm
Tension spring 10.5 X 1.1 X 25 MM coovveerrvcinrrcenneriseseisseseeensneenes
Bushing for top rosette ...t

Felt washer 40 / 10 x 10 mm
Knurled ring @ 28 mm
Clamp bushing
Clamp bushing
Rubber oot mmmnunmmnmmmmssmmas s
Bushing for bottom rosette.......

Knurled ring @ 39 mm .............

Knurled nut M 8 X 40 oo
Slotted screw M 6 x 25 mm ......

Slotted screw M 6 x 20 mm ...........

Kriurled serew:M:i6 % 14 MM v
BOlt 3 X 6 MM .....ooooeeoeeeceemnnnnnenessinenes
Flat round screw M 8 x 40 mm
Knurled nut M 6 ...........cn........
Washer 6.5:% 22 51 M s
Washer 11 x 6.4 x 1.5 mm
DISLANCE TG oo
Notched pin 5 x 27 mm...............

Half round rivet 4 x 26 mm
Notched pin 4 x 18 mm ..o,

‘? S0N0R @ Printed in Germany  Printed on recycled paper

36

SonorMuseum.de

&



5000 Hardware

¢S 50 Cymbal Stander
¢S 50 Cymbal Stand

842090 53 %
756 065 00 84302554
B106012 758 168 00
758168 00
750 098 00
815009 12

5113454

——— 75822200
8011312 —\ -
754133 00 2N\ T

D 754112 03
750 029 04 "MI’@ 815 065 12

. \ 80200353
75413153 \‘l i 712610
A

%
e o : L_‘ 750106 54
1y e b dise w80 &% 45 065 12

Sixeei 4t 2fa '/ﬁ' —Mme  — 802 00253

Wl wrwarfre cl2e — TAB300 75810700
-
—

BI4S

002908 — g

7[/[.;«/«“/‘&/44/" - 0:]|
75413153 ’\.

\

[~ QY ) 75822500 é 7582230
/i S =)0 - .
‘)‘k 22!1("/1’(-1’7{‘")”/' "/(/("?/\/'/Y @

308 0 ) 2=
0203585 = 'i]i'l‘
T54 13453 15413553

8
e

¢' SONOR

SonorMuseum.de

I



5000 Hardware

CTS 59 Cymbal-Tom Stand
135007 01 €T5:59 Cymbaltomustant st
750 029 04 Clampingroll s s A et
750 098 00 Bushing 10 /5.6 X 25 MM coovooeveeeoeeeresscereessesseeseesesesseessssessseesss
150 106 54 Memory clamp for top tube..
751039 73 Bottom ratchet 19.5 X 260 MM coooooeeveeersevesricccicccccioiesenesessssesssssssnnssssneee

751040 73 Top tilter 16.5 x 240 mm
151 146 54 Top tube for holder

152 047 54 CLAMP ot sresssssss s sssssss s sss s
152118 73 Shore for leg.... OSSOSO
152181173 L6 AN cicivsiuviinssisissassissssssessovsvinssissmsassssissssssssisssessssnisssasssssssistassissss
154 085 54 Top tilter with holding bolt..ccammumnssssnmmam:
154 094 54 Boom tilter
75413153 ClAMPING LVET w.ooevoereveeveciesissisesseees s
754 133 00 ClAMPING SPIING wovvvvvvvvrvrrrrrrreeeeeseesseesessessssssssssssssssssecesssssssseseososneseemsneeonsees
754 134 53 Bottom rosette

. 154 135 53 BOttom T0SELE Hvmmemmmmpammiemm i et
754 136 53 Top rosette

154137 53 Top rosette I1

754 14173 TOM LI ATTIN covvtoiveoeesse s seasse s ss st sesssen
156 017 74 RatcheticOmplete st %
156 044 54 Holder for cymbal-tom stand .
156 00650 SOCKEL FOT NOIIET oo =
157 019 10 Tension spring 10 X 1.3 X I8 MM eevevvvvvveveverrirninenrnreseeeeeneeeeeenes -
757 042 10 Tension spring 11 X 2.25 X 22 MM oo %
158 107 00 BiisHing 107 tOIITOSEUE sonsmessanmmemmmsss s =
158 168 00 Falt washer 40 710 X 0TI wosmsssmsmssminmimmsimimmmg z
158 207 00 Knurled ring @ 2800 Mz s s e —
758 221 00 CLAMP DUSHING oo g
158 223 00 RUDDET FOOL cvvverrsrrereeeeessssenesessssssssseesssssisssesesesssssssssssssssssssseesessssssssesesssnees o
758 225 00 LT 1T ()W 11 R ———— 97)
802 002 53 Slottat Sorew M6 005 MM s
802 047 53 Ring screw fortom [0 Ao s %
802 049 54 LEVET UL M 0 oo
802 052 54 T T (R | R ————

‘ 802 095 59 Kititled sciew M 6% 14 M s
840 113 12 T 11111

842 006 54 Flat round screw M 6 x 35 mm
842 008 54 Flat round screw M 6 x 40 mm

842 020 12 Cylinder screw M 6 x 40 mm.........

843 01513 (6 T 111 11 B A ———

843 030 53 Kiiiirled it M6 Elat s mmmmsmmmmanmmmsmasss s
844003 10 ST BITE: sitsiinmeoeonsoibo i S S AR
845004 12 Washer 6.4/ 12.5 x 1.6 mm

845009 12 Washer 6.5 X 22 X 1T MM oo

845 065 12 Washer 1] 0:4% LS M s
847126 10 Notched pin 5 x 27 mm
84712710 Half round rivet 4 x 26 mm
847128 10 Notched pin 4 X 18 mm ...
84713312 Threaded bolt M 6 x 27 mm

‘? SONOR @ Printed in Germany  Printed on recycled paper 37




5000 Hardware

CTS 59 Cymbal - Tom Stander
CTS 59 Cymbal - Tom Stand

QZ _ /2/ B
ot

SFOFSAY

______________________________________

750106 54
84506512
80200253

75822100
8401312
75413300
750 029 04

847126 10

75413153

s
SonorMuseum.de

80209559
758 20700

o

84712810
75218173

)

¢! SONOR




5000 Hardware

DCS 58 Double Cymbal Stand

135 005 01 DCS 58 Double cymbal stand..........cccoovcvemrremerriconniceesiesssessseeessiieens
750 029 04 Clamping roll

750 098 00 BiishinE 10/ 510 T25 Milllaumsmmssmsis o s
750 106 54 Memory clamp for top tube .
751039 73 Bottom rateliet 195 ROB0 M . ccommunsissssamsmssmsiiss
751040 73 Toptilter 16.5% 240 000 emmimmsimmarsss s
751146 54 Top tube for holder
152 047 54 CLAMIP coooocvevvvssreseseecc s
152118 73 Shore for leg OO
15218173 TEE, AL rviscacasssssssssssssmmsansisssssssssnssssssssinssssiasssvissosesss

154 085 54 Top tilter with holding bolt......

754 131 53 Clamping lever
754 133 00 Clamping spring

754 134 53 Bottom rosette I......
754 135 53 Bottom rosette I1

‘ 754 136 53 TODTOSEUE I st A S R
754 137 53 TOPLOSEHE IL.oumueesmmmsmmmmiiribisitissssssiiiiss e e Ao sssons
156 017 74 Ratchet complete
156 044 54 Holder for double cymbal and cymbal-tom stand.............cccenrces
156 046 54 SOCKEE FOT NOLACT 1oveeeeeeeeesssseeeseseesesesssseesess s ssessseseess s esseseseseene QD
757019 10 T 1R L SR B 21 D1 i R ————— <
157 042 10 Tension spring 11 X 2.25 X 22 MM ..o..ooovvsomncresnssssisssssssssssssne E
158 107 00 Bushing for top roSete .........ovc =
158 168 00 Feltwasheia0 103 LM mmmmmnaussmmssssssmsssissain 8
758 207 00 Kritifled fing @28 MM s =
758 221 00 Clamp bushifi smms b z
758 223 00 Rubber foot S
758 225 00 Bushing for DOOM TOSELLE ... @)
802002 53 Slotted screw M 0 X 25 MM oo g
802 049 54 Lever nut M 0 oo 9]
802 052 54 Wing nut M 6, SMALL oo
802 095 59 Kirrledisaiew MOR 14 Ml cusapmemmmmammsmusmmg %
840 113 12 B85 B ecrmerpsemoncsmsmssrees

842 006 54 Flat round screw M 6 x 35 mm
. 84200854 |y round screw M 6 x 40 mm

842 020 12 Cylifider SEIEW MO R0 s
843 015 13 AP MUEM B
843 030 53 knurled nUt M 6, FIAl o
844 003 10 LT LT ——

845 004 12 washer 6.4 /12.5 x 1.6 mm

845009 12 washer 6.5 X 22 X 1 mm ...........

845 065 12 washer 11 x 6.4 x 1.5 mm ..

847126 19 Notched pin 5 X 27 mm...........

84712719 Half round rivet 4 x 26 mm

847128 19 Nafehed pind X T8 s ssssssmssssssissssssssssnssssssssasisssssisias

L4

‘? SONO“ @ Printed in Germany  Printed on recvcled paper 38




5000 Hardware

DCS 58 Doppel Cymbal Stander
DCS 58 Double Cymbal Stand

758 221 00

3401312
75413300
750 029 04

15413153

]9
2

=

zum
/ 2500 —

845065 12
80200253

B 75810700
84712610

5
75820700

84712810
75218173

%ﬁ 158 22300

i.]’rifi‘a

\_1)
)
=) i

54134 53 - 1413553

¢! SONOR'

SonorMuseum.de

o



5000 Hardware

DTH 53 Double Tom Holder

135 008 01 DTH 53 Doubleitom HOlder s unmmammsssmsssmmmmmmss

145 288 54 Base for double tom holder-.......ccccooooovooonnnee.

145 290 54 Clamping socket for tom tom holder .........cvvvvvcvvveveeoeeecrssrresrsesirereee

145 291 54 Tom tom holder part 1 .....ccooorrrrrivcrescrienns

145 292 54 Tom tom holder part 2 .......cccooeoooererereee

745 293 54 Joint column COMPIELE ............ccouwemmemmmsrscrersssssssessssssssssssssssssssses

745 294 51 Ratchet for base .......ooooooevvvvvccccecccccinnn,

745 295 59 Excentrical lever, right with bolt..............[2

745 296 54 Excentrical lever, left.

745 297 53 Pressing plate 20 X 4.5 X 114 MM .....cvivirnninssrencciinsmmssssssssssmssasassssssenians

745300 00 Excentrical bolt.. R R S

745 301 00 Excentrical bushing ... O

745 302 14 Tom tOM AT wcceereeeeeeesssiseieens

157 087 12 Tension spring 11 x 1.3 x 16 mm .

757 089 12 Tension spring for ball Clamip wovsmusimmsmimmsimig
. 758 206 00 Knurled ring @ 44 MM .....oooooooovoovovrrcceeccesseeee e

758 207 00 Knurled ring @ 28 mm ..o .

758 211 00 Part of ball clamp OSSO

758 212 03 Ball cap for tom oM arim . s ssmsmssisssismssnisssssssissassssiis

158 217 00 PO YSICIE WASHEE sonicvurncsssnsssssossesevessiimuasisssonsonsssossasisysos i sasssis i

801 068 54 Knurled nut M 8 x 45 mm

80107459 5 Knurled SCIEW M 6 X 23 woocoocccrcrcrermsnsenssesnssssssessssessessese

801 07559 Kniuclediserew MiBit 45 st

802 003 53 Slotted screw M 6 x 20 mm

805 012 53 T 1l

805 024 12 Hexagonal socket SCrew driver ..............oooooooecccmmviiiinninisnisiieiinnnnns

84210513 Hexagonal socket screw M 6 x 20 mm

845 004 12 Washer 6.4 X 12.5 X 1.6 M oroooooeoeeeeeeeccceeseess e eseeeeeeenes

o

‘? SONOR @ Printed in Germany - Printed on recyeled paper 39

# SonorMuseum.de



e —

DTH 53 Doppelhaltegelenk g a/
DTH 53 Double Tom Holder b, - Mt
/
45296 $4 74495 59
745290 54
845004 12
745300 00
802003 53 74530100

758 211 00 ]

75708912
80502412

745293 59

B g 80501253

530274
|
\
|
|

»
X 801oms9
820700 —8 ) 758 206 00
801075 59
745 294 51

745 288 54
15108712

758 206 00
801068 54
758 21700

SonorMuseum.de

o

¢’ SONOR



‘5000 Hardware

06 errobac
A 113

HS 54 Hi-Hat 5
13500201 HS 54 Hi-halieocrcrrs

750 029 04 Clamping roll
150 106 54 Memory clamp for top rod
750 112 00 Chaiti for Hi-hateemmmmmmmennns T
752 096 00 Top rod for hi-hat 500 mm
15211913 5131 (4] [ S —
15218273 Leg, aluminum
752184 71 Pull rod 6 x 450 mm

153 093 55 Foot plate ...

753101 51 Hi-hat base ... .

753102 55 HEEL PLALE ovvvvvvrerreeececssisisisssesssssssssssssssssss s

754 067 53 00t SO rssssssessssaasssssussnsnassisssessscospsssshesssnsssss s sibssS5HssS3RiaRARR ROV

754 107 53 Chiaifi U-CONNECIOR e s s

754 131 00 ClAMPING 1EVET iicovsmmsmmmssmsissssisssiss risrsstsasasassesssessibilh

754133 00 ClAMPING SPIING woovvvveverrereeeceeeseesessessessssssssssssssssssssssssssssssssesssseees
. 754 134 53 BOLEOIM TOSEELE T ovvrrreeeeeeeeeee et seeeseeees e

754 135 53 BOLOM FOSCLLE T .oovovooeooreeeeeeeeee e

754 136 53 Top rosette I
754 137 53 Top rosette I

754 140 00 BallpresiDill oo s =%
15502803 Top cymbal HOET oo =
755 025 03 Bottom part of hi-hat clutch E
755 106 00 Bearing Bsh s s =
157 07710 Tension spring 15 X 1.5 X 85 MM ...c..ccccccvvmmmmsiiicvninnnnsssssssisiinnin, %
758 002 00 Rubber coating for ground plate =
758 013 10 Feltring:30ix: 103 10 MM :
758 015 00 FLE WASHCT vt sess s eess et es e es s e e ese e ee e e
758 107 00 Bushing for top rosette o
758188 00 BUShing fOr PUIL 100 oo =
758 196 00 RUBDEE FO0 it R s massonssss SR e 8
758 207 00 Knurled ring @ 26 mm
758 221 00 CHE 110 11 5L I — %
758 225 00 Buishing for bottom TOsetteh s s
759 002 00 Rubber washer

. 759 023 00 TOP CYMDAL TS wooriierserorcserrssssnsesss oo
759 073 00 Bottomeymbal rest s
765 088 00 Felt washer © 20 mm ................
802 002 53 Slotted screw M 6 x 25 mm
802 095 59 Knurled SereW M0 X 1AM comiiiommisionssss s 0 T e
840 089 10 Round head rivet 5 X 60 MM oo eeeeeennen,
840102 10 BOIt 3 X 30 MM covvvetieee e
840 103 10 BO1E 3558 20T ncvsssessssrmusaammorsrissamensesesiyssanseossasiseissssmeass R s
840 11110 Roiind ead fivetd X165 s
840113 12 BOLE.3:306 TH..ocrcemesssmssesssest B s A A b S it
843 003 12 HEXAGON NUL M S
843 005 12 STEE T TREL) . O IO ——
844 002 10 ST, THITE suspsrassmavesssescssonssescoasts s oS 5330
845 065 12 Washer T1.% 64 X105 T, aimmsiimia i atssstrerestannes
847126 10 Notched pin 5 X 27 MM oo
84712710 Half round rivet 4 X 26 MM ..o
847128 10 Notehed pin 4% 18MmMumgmmmsnmmmnsssmamss
84713012 Notehed pia 55K 52 00

‘ ) R ® Printed in Germany  Printed on recveled paper 40




5000 Hardware

@  vssthiHat

755024 03
80209559
= 75820700

15218411

5107759
75907300

750106 54
84506512
80200253

75810700
[j_

SonorMuseum.de

754136 53
L 80209559
758 207 00
& %
>
75822500 ——

e
%

75900200
§13 00512

@;5
754 067 53 :

84010210 15413453 ——
X 19309355

5414000 ——
7310050 ————

— 755106 00

75310255

+' SONOR




5000 Hardware

P 9395 Bass Drum Pedal

135000 01 P 9395 Bass drum pedal.

116 048 51 Sehi27 MUILEDeAteT s
750 102 00 Axle for bassidrum pedal v smmmusammmmmasis
750 104 52 Roll, nickle s

750 118 00 Chain part........ SRRSO

753 084 55 Foot plate R

753 086 00 Clamping lever
753 087 51 Holder for beater, aluminum

753 088 00 Connecting rod .................

753 095 51 Base of bass drum pedal..........cvvvcreccsvesnsrnnenn.

153102 55 HEEL PLALE c.ovvvveveevverereccceceesssscssissssssssss s
754 067 53 Foot stopper ....... U ——
755 034 53 Bolt'Mi6 X 65 T smamm e s
755106 00 Bearing bush 8 X 14 X 125 MM ccoooreorrrrcreceeeeceeeseeeesssssseseseeeeesessesseseneees
757 002 12 Tension spring 11 X 1.1 X 30 MM c.ooovvvvvveveeressssesneeneneecessssssssesssseeen

. 757 003 12 Tension spring 11 x 1.25 X 30 mm
757 004 12 Tension spring 11 x 1.5 x 30 mm
757 04112 Tension'spring 7.2 ¥ 1:X22 Ml cnsansmmmammnmssma s
757 043 12 Tension spring 7.2 x 0.7 X 32 mm

157 074 12 SPIING DOW wooooveverceinicrennssnecsesse s sssssssssss s, %
758 129 00 ChAIN GUIAING oo E
758 148 00 T

758 149 00 Protecting strip for chain guiding 8
758 154 51 Felt beater fOr SCh 27 ...oovvvvvvvevveeeecsssssssrereeeesssssessssseooessessssssesesssssssssssnnns A
758 155 51 Wood beater for Sch 27......... =
758 156 51 Rubber beater-for Sehi27 s 2
758 157 51 Actylic:beater for Sch 27w mimmmissmmssnssmmmsvstisms o S
758 192 00 Rubbér coatitip for ground Plate s =
802 003 53 Slotted SErew M 6T 20 T w.......c0mm i ovasss tnns (@)
80205250  WiNG NUL M 6 oo, Vo
802 072 03 Knurled screw with SPIKe ..ooooooooooooooooooceccececcccciviscsesssssiniiinns

80501253 DIUM KEY .o *

805 019 10 Single-headed wrench 11 mm
840 003 13 Tube rivet 7 x 0.4 x 5 mm

' 88008710 BOIL 2 X 16 MM oo
840 089 10 Roiirid hiead fivet 5% 60 MMt ismmimans
84010210 Bolt 3 x 30 mm
841 037 12 LentilSCIEW M IS 13 T .oniiiiiinnensssiiis s oo R benenen s
841094 10 Hexagonal socket screw M 5 X 14 MM ...,
842 08110 Threaded bolt M 6 X 6 MM cooooooooeeeeeeeceee e
842106 12 Threaded bolt M 6 X 50 MM coovvooeeeeoeeeeee s
843 003 12 HEXAEON UL M S
843 025 54 Knurled nut M 6 oo

843 030 53 Knurled nut M 6, flat
843 068 12 Self-locking nut M 8
844 002 10 Spring ring
844 008 10 SPING WASHET oo
845 007 12 Washer § 8.4 MM c.......ooooovoeieeeeeeeeeee oo
845025 12 Washer 22 x 6.6 x 2 mm
845 059 10 LOCK WASHCT .o
849 009 00 Needle bearing

¢ SONOR
@ Printed in Germany  Printed on recyveled paper 41




5000 Hardware

P 9395 FuBmaschine
P 9395 Bass Drum Pedal

75010200 Q

75812900

758149 00 —(
00
0Q°
0 0

53 08751
84109410
840 08710
84010210

84208110 ‘
750118 00 =
75309551
1900900
$45.00710
$13 06812

84505910

ORI —e
300312

80207203 ’g
T 04112 j
8000313

75819200

80501253
49009 00
758148 00

753 088 00
75010452

84103712
751074 12

75100212
75700312
757004 12

755034 53
303053

844008 10
#3025

75406753
753 08455

¢ SONOR

SonorMuseum.de

of



5000 Hardware

PR TOERBRaTIT ¢

135001 01

745 292 54
745 295 54

745 300 00 -

745 301 00
745 323 00
750 029 04
750 106 54
751145 54
752 09173
152180 73
15218313
152 185 74
745123 03
754 124 03
754 131 53
754 133 00
754 134 53
754 135 53
754 136 53
154 137 53
755 019 00
155 023 53
757 089 12
758 097 00
758 107 00
758 207 00
758 211 00
758 221 00
758 223 00
758 225 00
801 070 54
802 002 53
802 095 59
802 099 59
805 024 12
840 11110
840 11312
841020 12
84210513
844 002 10
845 003 12
845 065 12
84700110
847101 00
847126 10
84712710
847128 10

SS 57 Snare Drum Stand

SSI5 7 Satedinil SEAN D st

Snare drum holder part 2 .... = .
EXCENLIICAL IOVET w..vvvvovvvrcecrieccrreesiienee s ssessssssens
EXCENLIICAL DOt oo
Excentrical bushing e
Shaterdeui HOlder PALE L
Clamping roll ... e e e et
Memory clamp for tOp tUDE ...
Quick release tube with square connecting rod...........cccccccccceeseriiries
Cartier armforsnare; UM s
Shore for leg..
Leg, aluminum
ShOTe fOr CAITIEr ATM ..oovvvvvvvveeeeeeeeevesissss s
Bottomipart:ofiStantdir0SeHE s sammimsmmmssississssommmmisosassraass s
Top part Of stand TOSEHE aumummsmsmmmisimmmpamsims
Clamping JEVET s i T e srprerens 55
ClArD NG SDIINE cricuuiiseisiremsommmsssssss G sssonnpmmmsssessssssssossdssibsssosbnbi s s
Bottom rosette I
BOtLOM TOSELE T oot
Top rosette |
Top rosette II
Sliding bolt.........
Fixing clamp
Tension spring 5.3 x 0.8 x 16 mm
) ) T a—
Bushifig {0FIOPTOSEEE. . .onmammmumsmmm R,
Knurled ring @ 28 mm
BAll CLAMP oo ssssssesssessesssnees
Clamp DUSHING oo
Rubber foot
Bushing for bottom rosette
Knurled nut M 6 X 28 MM oo
Slotted screw M 6 x 25 mm
Knurled screw M 6 x 14 mm
KitEled: SErew:- M. 105 s s s s
Hexagonal socket screw driver
Round head rivet 4 X 16 MM cooooovvovooooooeeeeeeeeeeese e,
BOIt 3 X 0 MM oo
Lenifil serew.M 538 MM cmmnsmssimmswsnmmsmmsnswssmsiss
Hexagonal socket screw M 6 X 20 MM .......ovvovieenienrnersssssssiensineneen,
SPIiNG FINE oovevvervvccsassiininnnsssssssssssinine P R
Washer 4.3 MM i iR e,
Washer 11 X 6.4 X 1.5 MM woooovooovvoereeeeeeeeeeeeeeeeeeeeeeeeeeeees oo seeeesssseeeseeseeeeeen
Rotiid:Head rivetd X338 MM o
Blitid fivet 4 % 12Mimi i b
Notched pin 5 X 27 mm...........

Half round rivet 4 x 26 mm
Notehed pin 4% LMMl s

' SONOR
@ Printed 1 Germany  Printed on recycled paper 42

SonorMuseum.de

)




5000 Hardware

SS 57 Snare Stander
SS 57 Snare Drum Stand

758 097 00

84011110
5412303
. 758 21100

8102012
157089 12 81500312

745292 54

80502412

74530100

745300 00
84700110

529% %

80209959

é 758107 00
84712610

75822100
750106 54

011312
845 06512
80200253 75413300

SonorMuseum.de

80209559
758 207 00

o

84712810

o' SONOR




¢

5000 Hardware

135 006 01

745 290 54
745 291 54
745 292 54
745 095 54
745 296 54
745 300 00
745 301 00
745 302 74
750 029 04
750 106 54
751141 54

152178 73

75218173

75413153

754 133 00
754 134 53

154 135 53
754 136 53
754 137 53

157 089 12
758 107 00
758 207 00
758 211 00
758 212 03
758 221 00
758 223 00
758 225 00
802 002 53
802 003 53
802 095 59
805 012 53
805 024 12
840 113 12

84210513
845 065 12
847126 10
84712710

847128 10

TS 55 Double Tom Stand

TS 55 Double tom stand....................

Clamping socket for tom tom holder......
Tom tom NOIAer PATt 1 ..occveeevveeeeeermeenrsssssseeseereceeseisssssssssssses
Tom tom holder PArt 2 ...........srsssssssesseeeererreseseseeesssssssssssss

Excentrical lever, right
Excentrical lever, left
Excentrical bolt..
Excentrical bushing ..
T O LOMI AT i5uusconnsesuvasisussinsonsissvessosssas s sesssessssvasisianssnsossisnsossansaionsss svsss
Clamping roll .. G 5SRO
Memoryiclamip fortoptubecaummmmmnnmm
Top tube complete
Shore for leg..........
IRTRTEiT 1 ST O ————— oo
ClAMPING LEVe s SRR
Clamping spring .........
BOEOM TOSELE 1ot seseenens
BOLtOM TOSLE 1T ovouviieeiri s esbene
Top rosette I
Top rosette 1
Tension spring for ball clamp
Bushing fOr tOP TOSELLE ........oooceeeceserrccesrsrcsciimrinsevsseesssessssssssssssssnsss e
Knurled ring @ 28 MM ... seseseesssssssesessssse
Part of ball clamp
Ball cap for tom tomi Atiilewssmummmmmsmasmemismmsm
Clamp buShii S osmmrn s
RUD BT ODE isii50mssnsisisisssiinsisammassasmssnsasssnsses ha3 S s R S hanne
Bushing for DOttOM FOSELLE ...ovvvvvvververeceeccccrscccscccccccsiisiiiiieisiieieen,
Slotted SCrew M 6 X 25 MM cooooooiiveeeerirnrsccsvcreeeessssssssessseeessssnenes
Slotted SCrew M 6 X 20 MM oo,
Kititled serew M6t 14 M o
DT 11 () T YT S
Hexagonal socket SCrew driver ...........crmrmnceccscicrsscenscsnn
BOIE 3 X 0 MM oo ssssssssess s
Hexagonal socket screw M 6 X 20 MM .....ccomrmvrnscncsresensnnssisisne
WasheE TLEGAR L5 I ciiiisennssessssoosss st sssassis e s smmassessi
Notched pin 5 X 27 MM oo sescesssssccsnnnsaannns
Half round rivet 4 X 26 MM oo
Notched pin 4 X 18 MM ..o sesssisissssssssesessssns

@ Printed i Germany  Printed on recvcled paper

43

SonorMuseum.de

&




5000 Hardware
| DT_( O = s Ao/

TS 55 Doppel Tom Stinder
TS 55 Double Tom Stand

745296 54 74529554

745290 54
80200358 —@&, )

84210513
84210513

745300 00
74530100

74529154

15821203

745292 %4

| Z 80502412

? 80501253

750 106 54
84506512
— 80200253

— 75810700

75822100
8401312
754133 00

750 029 04 847126 10

75413153

SonorMuseum.de

84712810
15218173

o

15217873

758 225 00

&

@

g 758 22300 r/?z IZ(,.;_, ‘ fjd//??(ﬁ(f‘

o’ SONOR




-~

5000 Hardware

115 550 01

745 853 00
745 854 00
745 855 00
745 856 00
745 857 00
745 858 00
745 859 00
745 860 00
745 861 00
745 862 00
745 863 00
745 864 00
750 105 00
753 084 51
753 085 00
754 067 53
757 04112
758 171 00
802 072 03
805 012 53
840 003 13
840 089 10
843 003 12
844 002 10

19392 Double Bass Drum Pedal

Z 9392 Double bass drum pedal ........cccccrcrrivcvccrvrveecicississssssneneee.

CUAMD scosesscssssusismssssssssssssssussssusssusmsssssssmsssvasussssssesssvass adssss srassessvemmsissisauassssssass
Clamping plate T mm—
Wing nut for clamp ..o
Wing nut for clamping plate ..............
Rubber coating for rim protection .....
Tension spring With DOW .........ccccccveeenereccncrrinnnnininnnns
Adjusting screw complete with knurled nut............cccccoovvvvvioenrenn.
Connecting rod complete with roll and SCrews ............covvvvvveevveiiinns
Holder for beater, 1eft, With SCIEWS ........cccoovvveeieevvecreeerreees s
Holder for beater, right, with screws
Gardammshalt with:serews ummmmsanmsmmmmmmamsssmms
B BT coammmsa s e o A RS TS
Chain for Z 9392 with 25 chain links ...,
FOOU PIALE oo esssisesssss e
HEEL DI AU coveusssusssvemsensosmissssssissasssnssssassssssssossnssmasusnsusossssvessivessissusassnsnssnsnsssss
FOOT SEODPEI ssvasssssocusuasivessvsssnssoiossssosissesssssssss sves sssssstiossvsisssstsmssssssssnss sedvians
Tension SPring 7:2 x 1 X 22 MM ccmvumssosssiarmssssisssssssissssisussssssssss
Bearing DU suemammmmss o R
Knurled screw with spike
DIEUML KEY wovvvvvvrvvvsivvsvssnsneeneneessssssss s sssssssssssssssssssssssssssssssssinns
Tube rivet 7 X 0.4 X 5 MM cooovvvooeioeeeeeeeeceseeeeeeeeeeeeseeeesesesesese s,
Round head rivet 5 x 60 mm
HeXagon NUE M 5.ornrrsssinsssssssssssssssssssnsssssssssssssssssssssssssssssssses
SPTINEITING sussssosesersmmssosmmsssnsrussesssssorssssnssssosnssssivinisosspesssssassssiisporsenissosssoissnyas

‘? SONOR @ Printed tn Germany  Printed on recveled paper

aa

SonorMuseum.de

&



5000 Hardware

1 9392 Doppel- FuBmaschine
1 9392 Double Bass Drum Pedal

="

7586400 —

745862 00

745858 00
745858 00

745859 00

'I N2 ‘-'; 5
: . A
= > 5 %
’ & 753 084 51
¥ l Q— 81700
y 75853 ! \
80207203 00 \

4 me—s /

sy ——

75406753

SonorMuseum.de

75308451
? 75817100

o

2/ /@”,da Aka 5 /ur (}Z_ l /7(/&(3( % //] / /; ol

9,20

¢' SONOR






